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6
6.1  |�]#ájáT+

ç|�¿£�ÜýË #�ý² ed�TïeÚ\T neT]¿£\ ç¿£eÖ�� bÍ{ì+#á&�+ MTsÁT >·eT�+#û eÚ+{²sÁT.  �<�V�²sÁDÅ£�

çbõ<�TÝ ÜsÁT>·T&�T |�ÚeÚÇýË� |�P\Âs¿£Ø\T, ÔûHîÔáTfÉ¼ýË� >·ÖÞø�ß, yîTT¿£ØC¤q� ¿£+¿ìýË� $ÔáïH�\T, nH�d� (pineapple)

eT]jáTT <ûe<�sÁT (pine) |�+&�¢MT~ d�]Îý²¿±s�\T.

�|Õ ç|�r �<�V�²sÁDýË� ed�TïeÚ\/ |�<�s��\ neT]¿£qT >·eT�+#�s�? d�V�²È d¾<�ÆyîT®q �ý²+{ì

neT]¿£\T  |�Úqs�e�Ôá+ neÚÔ�sTT >±ú |�ÚsÃ>·$T+#û $<ó�+>± eÚ+&�eÚ.  çbõ<�TÝÜsÁT>·T&�T |�ÚeÚÇýË ÿ¹¿

sÁ¿£yîT®q Âs¿£Ø\T ÿ¹¿ <�ÖsÁ+ýË �|sÁT>·TÔ�sTT.  ÔûHîÔáTfÉ¼ýË� w�&�TÒÛC²¿±sÁ >·ÖÞøßú� w�&�TÒÛC²¿±sÁ+ýË kåw�¼e+>±

eÚ+{²sTT.  n<û$<ó�+>± nH�d�|�+&�T  MT~ d�V�²Èd¾<�ÆyîT®q d�]Îý²¿±sÁ neT]¿£\qT eTq+ >·eT�+#áe#áTÌ.

�Ôá«J$Ôá+ýË m<�TsÁjûT« �ý²+{ì eT]¿=�� neT]¿£\qT |�]o*<�Ý+.

(i) 4, 42, 43, 44, 45, 46 ..... $\Te\ jîTT¿£Ø ÿ¿£³¢ kÍ�q+ýË� n+Â¿\T esÁTd�>±

4, 6, 4, 6, 4, 6, ......

(ii) yûT] u²«+Å£� �<Ã«>±\ nsÁ½Ôá |�̄ ¿£�Å£� d�q�<�ÝeTòÔáT+~.  n+<�TýË uó²>·+>± neT]¿£\ MT<�

d�eTd�«\qT kÍ~ód�Öï eÚ+~.  y��ýË ÿ¿£ d�eTd�« � ç¿ì+~ $<ó�+>± �+~.

1, 2, 4, 8, 10, 20, 22 .......

(iii) �w� ÿ¿£ �<Ã«>±�¿ì <�sÁU²d�Tï #ûd¾+~.  �yîT Hî\Å£�  ̀  8000/` #=|�ðq eT]jáTT d�+eÔáàsÁeTTqÅ£�

` 500 yûÔáH�_óe�~Æ eÚq� �<Ã«>·+ýË �jáT$TÔáTs�ýÉÕ+~.  nsTTq �yîT JÔá+ yîTT<�{ì, Âs+&�e,

eTÖ&�e .... d�+eÔáàs�\ýË Hî\Å£� ` 8000, ` 8500, ` 9000 .....

(iv) ÿ¿£ �#îÌq yîT³¢ jîTT¿£Ø bõ&�eÚ ç¿ì+<� qT+º �|Õ¿ì ç¿£eT+>± 2 �d+.MT. Ôá>·TZÔáÖ eÚ+~. ç¿ì+<�

qT+ºyîTT<�{ì yîTT³T¼ jîTT¿£Ø bõ&�eÚ  45 �d+.MT nsTTq ç¿ì+<� qT+º ç¿£eT+>± yîTT<�{ì, Âs+&�e,

eTÖ&�e ....... m�$T<�e yîT³¢ bõ&�eÚ\T esÁTd�>± �d+.MT.\ýË 45, 43, 41, 39, 37, 35, 33, 31.

�|Õ d�+K«\ neT]¿£\ýË� |�<�\ eT<ó�« MT¹syîT®H� d�+�+<ó��� >·eT�+#�s� ?

�<�V�²sÁD (i) ýË Âs+&�T d�+K«\T 4 eT]jáTT 6 n<û ç¿£eT+ýË |�Úqs�e�ÔáeTeÚÔáTH��sTT.

n<ó�«jáTeTT

çXâ&ó�T\T
(Progressions)
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�<�V�²sÁD (ii) ýË� neT]¿£qT ¿£qT>=qT³Å£� ç|�jáTÜ�+#á+&�.  �<�V�²sÁD  (iii), (iv) \ýË�

neT]¿£\ýË d�+K«\T ç¿£eT+>± d¾�sÁ+>± |�ÚsÃ>·$Td�Öï eÚH��sTT.  C²_Ô� 8000, 8500, 9000, .... ýË ç|�r

|�<�eTT (yîTT<�{ì |�<�+ Ôá|�Î) <�� eTT+<�Tq� |�<�eTTqÅ£�  500 qT ¿£\|�³+ e\¢ ed�TïH��sTT.   n<û$<ó�+>±

C²_Ô� 45, 43, 41, ..... ýË ç|�r |�<�+ (yîTT<�{ì |�<�+ Ôá|�Î) <�� eTT+<�Tq� |�<�eTTqÅ£� ‘-2’ qT ¿£\|�³+

e\¢ ed�Tï+~. �ý²+{ì |�ÚsÃ>·eTq neT]¿£\T eT]¿=��+{ì� eTq+ #áÖ<�Ý+.

(a) ÿ¿£ bõ<�T|�Ú |�<�̧¿£+ýË kõeTT� eTÖ&�T d�+öö\Å£� ÿ¿£kÍ] 
5
4  Âs³T¢ �|sÁT>·TÔáT+~. � dÓØeTTýË

`  8000 qT �|³T¼�&�>± �|{ì¼q  3, 6, 9 eT]jáTT12  d�+öö\ ÔásÁTy�Ôá e#ûÌ yîTTÔáï+ kõeTT� esÁTd�>±

 10000, 12500, 15625, 19531.25.

(b) 1, 2, 3, .... jáTÖ�³T¢ uó�TC²\T>± >·\ #áÔáTsÁçkÍ\ýË� jáTÖ�{Ù #áÔáTsÁçkÍ\ d�+K« esÁTd�>±

12, 22, 32, ....

(c) �V²eT Ôáq Å£LÔáTsÁT yîTT<�{ì |�Ú{ì¼q sÃE  ̀  1000 \qT Ôáq Å£LÔáTsÁT jîTT¿£Ø &��TÒ\ �|fÉ¼ýË eÚ+º+~.

ç|�r d�+ööeTT � $<ó�+>± eÚ+#û kõeTT�  ̀  500 �|+#áTÔáÖ bþsTTq yîTT<�{ì, Âs+&�e, eTÖ&�e, H�\Ze

..... |�Ú{ì¼q sÃEq �|fÉ¼ýË eÚ+#û kõeTT� esÁTd�>±

1000, 1500, 2000, 2500, .....

(d) � ç¿ì+<� �eÇ�&�q |�³+ýË �w&� #ûjáT�&�q #áÔáTsÁçd�uó²>±\ $\Te\T _óq� sÁÖ|�+ýË esÁTd�>±

1 1 1 1, , , , ....
4 16 64 256
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(e) ÿ¿£ Å£�+<ûÞøß È+³ |�Ú{ì¼q Âs+&�e Hî\ qT+º ç|�Ü Hî\ eT]ÿ¿£ Å£�+<ûÞøß È+³qT Èq��d�Tï+<�qT¿=qTeTT.

�ý² È��+ºq  Å£�+<ûÞøß È+³ Å£L&� Ü]Ð Âs+&�e Hî\ qT+º ç|�ÜHî\ �+¿=¿£ Å£�+<ûÞøß È+³qT

Èq��d�Tï+<�qT¿=qTeTT.  yîTT<�{ì Hî\ýË ÿ¹¿ÿ¿£ È+³ eÚ+<�qT¿=� @ Å£�+<ûÞøß È+³ #á�bþýñ<��

uó²$�dï 1, 2, 3, 4, 5, 6,....., e Hî\ýË eÚ+&û Å£�+<ûÞøß È+³\ d�+K«\T esÁTd�>±

1, 1, 2, 3, 5, 8

�|Õ �<�V�²sÁD\ýË eTq+ ¿=�� neT]¿£\ ç¿£eÖ\qT >·eT�+#á>·\+.  ¿=��+{ìýË ç|�r |�<�eTT

<�� eTT+<�TeÚq� |�<��¿ì ÿ¿£ d¾�sÁ |�<��� ¿£\e³+ e\¢ \_ókÍïsTT.  ¿=��+{ìýË ç|�r |�<�eTTqT ÿ¿£ d¾�sÁ

|�<�+#û >·TDì+#á³+ e\¢ ÔásÁTy�Ôá |�<�\qT bõ+<�>·\+.  eT]¿=��+{ìýË esÁTd� d�+K«\ es�Z\qT >·eT�+#á>·\+.

 � n<ó�«jáT+ýË ç|�r |�<�eTT <�� eTT+<�Tq� |�<��¿ì ÿ¿£ d¾�sÁ|�<��� ¿£\|�³+ e\¢ \_ó+#û

neT]¿£\qT, eT]jáTT ç|�r |�<�eTTqT ÿ¿£ d¾�sÁ|�<�eTT#û >·TDì+#á&�+ e\¢ ÔásÁTy�Ôá |�<�\qT bõ+<û neT]¿£\T

¿£*Ðq y��� esÁTd�>± n+¿£çXâ&ó� eT]jáTT >·TDçXâ&ó�T\T n+{²sÁT. M{ì jîTT¿£Ø n e |�<�\qT eT]jáTT n

|�<�\ yîTTÔ�ï\qT >·T]+º #á]ÌkÍï+.

#á]çÔá : kÍeÖq« Xø¿£+ 400 d�+öö\Å£� |�PsÁÇyûT u²_ýË�jáTq¢Å£� n+¿£çXâ&ó�, >·TDçXâ&ó�T\qT >·T]+º Ôî*d¾q³T¢>±

�<ó�s�\TH��sTT.  uË<̧îqTà (570 C.E) ç|�¿±sÁeTT � çXâ&ó�T\qT >·T]+º |�PsÁÇ|�Ú ç̂ Å£� sÁ#ásTTÔá\Å£� Ôî*d¾q³T¢>±

nsÁÝeTòÔáT+~.  yîTT³¼yîTT<�{ìkÍ] ç|�eTTK uó²sÁrjáT çbÍNq >·DìÔáyûÔáï �sÁ«uó�³¼ (470 C.E) yîTT<�{ìkÍ] yîTT<�{ì

d�V�²È d�+K«\ es�Z\ yîTTÔáïeTT,  |��TH�\  yîTTÔáïeTTqÅ£�  d�ÖçÔ�\qT  �ºÌq³T¢>±  Ôáq sÁ#áq  �sÁ«uó�{¡¼jáT+

(499 C.E) qT+º Ôî\Td�Tï+~.  �+¿± n+¿£çXâ&ó�ýË p  e |�<�+ qT+º ne |�<�+ esÁÅ£L >·\ |�<�\ yîTTÔáïeTTqT

¿£qT>=qT³Å£�  ned�sÁyîT®q  d�ÖçÔáeTTqT �jáTq �eÇ³+ È]Ð+~.  ç�V�²�>·T|�Úï&�T, (598 C.E) eTV�äMsÁ

(850 C.E) eT]jáTT uó²d�ØsÁ (1114`1185 C.E) e+{ì çbÍNq uó²sÁrjáT >·DìÔáyûÔáï\T yîTT<�{ì d�V�²Èd�+K«\

es�Z\ yîTTÔáïeTT eT]jáTT |��TH�\ yîTTÔáï+\qT >·T]+º #á]Ì+ºq³T¢>± Ôî\Td�Tï+~.
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6.2  n+¿£çXâ&ó�T\T (ARTHIMATIC PROGRESSION)

ç¿ì+~ d�+K«\ C²_Ô�\qT |�]o*+#á+&�.

(i) 1, 2, 3, 4, . . . (ii) 100, 70, 40, 10, . . .

(iii) – 3, –2, –1, 0, . . . (iv) 3, 3, 3, 3, . . .

(v) –1.0, –1.5, –2.0, –2.5, . . .

C²_Ô�ýË� ç|�r d�+K«qT ÿ¿£ |�<�+ n+{²+.

�ºÌq |�<�\ �<ó�sÁ+>± ç|�Ü C²_Ô�ýË ÔásÁTy�Ôá |�<�eTTqT s�jáT>·\s�? s�jáT>·*ÐÔû mý² s�jáT>·\sÁT?

�V�QXæ neT]¿£ýË� �jáTeT+ �<ó�sÁ+>± s�jáT>·\sÁT.  � �jáTeT+ @$T{Ë |�]o*<�Ý+.

(i) ýË ç|�Ü |�<�eTT (yîTT<�{ì |�<�+ Ôá|�Î) <�� eTT+<�Tq� |�<��¿£+fñ »1µ mÅ£�Øe

(ii) ýË ç|�Ü |�<�eTT, <�� eTT+<�Tq� |�<�eTT ¿£+fñ 30 ÔáÅ£�Øe.

(iii) ýË ç|�Ü |�<�eTT, <�� eTT+<�Tq� |�<��¿ì »1µ ¿£\|�³+ e\¢ ed�Tï+~.

(iv) ýË n�� |�<�\T 3jûT. nq>± ç|�r |�<�eTT <�� eTT+<�Tq� |�<��¿ì d�Tq� (»0µ) ¿£\|�³+ e\¢ ed�Tï+~.

(v) ýË ç|�Ü |�<�eTT <�� eTT+<�T eÚq� |�<��¿ì »– 0.5µ qT ¿£\|�³+ e\¢ (nq>± 0.5 qT rd¾yûjáT³+ e\¢)
ed�Tï+~.

�|Õ n�� C²_Ô�\ýË ç|�Ü C²_Ô�ýËqT ç|�Ü |�<�eTT, <�� eTT+<�Tq� |�<��¿ì ÿ¿£ d¾�sÁ d�+K«qT ¿£\|�³+

e\¢ >±ú ýñ<� rd¾yûjáT³+ e\¢>±ú ed�TïH��sTT.  �ý²+{ì d�+K«\ C²_Ô�qT n+¿£çXâ&ó� n+{²eTT.

    ç|�jáTÜ�+#á+&�

(i) ç¿ì+~ y��ýË @$ n+¿£çXâ&ó�T\T? m+<�TÅ£�?

(a) 2, 3, 5, 7, 8, 10, 15, ...... (b)   2, 5, 7, 10, 12, 15......

(c) -1, -3, -5, -7, ......

(ii) @yîÕH� eTÖ&�T n+¿£çXâ&ó�T\qT s�jáTTeTT.

6.2.1 n+¿£çXâ&ó� nq>± Hû$T ?

�|Õ |�]o\q\ <��cÍ¼« »»ÿ¿£ d�+K«\ C²_Ô�ýË yîTT<�{ì |�<�+ Ôá|�Î $TÐ*q n�� |�<�\T y�� eTT+<�Tq�

|�<��¿ì @<Ã ÿ¿£ d¾�sÁ d�+K«qT ¿£\|�³+ e\¢ ed�Öï eÚ+fñ � C²_Ô�qT n+¿£çXâ&ó� n+{²eTTµµ.

¿£*�| d¾�sÁd�+K«qT kÍeÖq« uóñ<�+ ýñ<� |�<�+ÔásÁ+ n+{²eTT.

ÿ¿£ n+¿£çXâ&ó�ýË� yîTT<�{ì |�<�+ a1, Âs+&�e |�<�eTTqT a2, . . ., ne |�<�eTTqT an eT]jáTT kÍeÖq«

uóñ<�eTT d  nqT¿=�q n+¿£çXâ&ó� : a1, a2, a3, . . ., an.

eT]jáTT, a2 – a1 = a3 – a2 = . . . = an – an – 1 = d.
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eT]�� n+¿£çXâ&ó�T\qT |�]o*<�Ý+.

(a) ÿ¿£ bÍsÄÁXæ\ýË çbÍsÁ�H� d�eTjáT+ýË esÁTd�>± �\�&�q $<�«sÁT�\ mÔáTï\T (�d+.MT.\ýË) 147 ,
148, 149, . . ., 157.

(b) ÿ¿£ |�³¼DeTTýË Èqe] eÖd�+ýË ÿ¿£ y�sÁ+ýË qyîÖ<îÕq ¿£�w�÷ �cþ�ç>·Ôá\ �sÃV�²D ç¿£eTeTT

– 3.1, – 3.0, – 2.9, – 2.8, – 2.7, – 2.6, – 2.5
(c) ` 1000 \ #û�<�T\T kõeTT��|Õ ç|�r Hî\ 5% Ü]Ð #î*¢d�Tïq�, ç|�Ü Hî\ ºesÁ �+¿£qÖ #î*¢+#áe\d¾q

kõeTT�  ` 950, ` 900, ` 850, ` 800, . . ., ` 50.
(d) ÿ¿£ bÍsÄÁXæ\ýË  1 qT+º 12 e ÔásÁ>·Ü esÁÅ£L ç|�Ü ÔásÁ>·ÜýË nÔá«~ó¿£ eÖsÁTØ\T kÍ~ó+ºq y�]¿ì �#ûÌ

�V�QeTÔáT\ $\Te esÁTd�>± ̀  200, ` 250, ` 300, ` 350, . . ., ` 750.
(e) 10 Hî\ýË ç|�Ü Hî\ýË  ̀  50 \T #=|�ðq bõ<�T|�Ú #ûd¾q ç|�Ü Hî\ ºesÁýË eÚ+&û yîTTÔáï+ kõeTT� esÁTd�>±

` 50, ` 100, ` 150, ` 200, ` 250, ` 300, ` 350, ` 400, ` 450, ` 500.

   �ýËº+º ` #á]Ì+#á+&�

   1. �|Õq �|s=Øq�&�q ç|�Ü C²_Ô� @$<ó�+>± n+¿£çXâ&ó� neÚÔáT+<Ã �ýËº+#áTeTT. MT $TçÔáT�ýË #á]Ì+#áTeTT.

   2. �|Õq �eÇ�&�q ç|�Ü C²_Ô�Å£� kÍeÖq«uóñ<�+qT ¿£qT>=qTeTT. kÍeÖq«uóñ<�+ m|�ð&�T <ó�H�Ôá�¿£yîÖ

�ýËº+#áTeTT.

   3. kÍeÖq« uóñ<�+ ÿ¿£ ºq� <ó�H�Ôá�¿£ $\Te eÚ+&û³³T¢ ÿ¿£ n+¿£çXâ&ó�� ÔájáÖsÁT#ûjáTTeTT.

  4. kÍeÖq« uóñ<�+ ÿ¿£ �|<�Ý <ó�H�Ôá�¿£ $\Te>± eÚ+&û³³T¢ ÿ¿£ n+¿£çXâ&ó�� ÔájáÖsÁT #ûjáTTeTT.

  5. kÍeÖq« uóñ<�+ �TTD²Ôá�¿£+>± eÚ+&û³³T¢ ÿ¿£ n+¿£çXâ&ó�� s�jáTTeTT.

n+¿£çXâ&ó� jîTT¿£Ø kÍeÖq« sÁÖ|�eTT : n+¿£çXâ&ó�T\��+{ì� � ç¿ì+~ sÁÖ|�+ýË s�jáTe#áÌ� MTsÁT
>·eT�+#û eÚ+{²sÁT.

a, a + d, a + 2d, a + 3d, . . .
B�Hû n+¿£çXâ&ó� jîTT¿£Ø kÍ<ó�sÁD sÁÖ|�eTT n+{²+.  �+<�TýË »aµ yîTT<�{ì |�<�eTT, d kÍeÖq« uóñ<�+ ýñ<�

|�<�+ÔásÁeTT.

�<�V�²sÁDÅ£� 1, 2, 3, 4, 5, .... ýË yîTT<�{ì |�<�+ ÿ¿£{ì eT]jáTT kÍeÖq«uóñ<�+ Å£L&� ÿ¿£{ìjûT.

n<û $<ó�+>± 4, 6, 8, 10, ...... ýË yîTT<�{ì |�<�+ m+Ôá? kÍeÖq« uóñ<�+ m+Ôá?

  ¿£�Ôá«eTT

(i) nÐZ|�Ú\¢\ d�V�äjáT+ÔÃ ç¿ì+~ �¿±s�\qT @sÁÎsÁ#áTeTT.

(ii) ç|�Ü �¿±s��¿ì ¿±e\d¾q nÐZ |�Ú\¢\ d�+K«qT esÁTd�>± s�jáTTeTT.
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  (iii)  C²_Ô�ýË Âs+&Ã esÁTd� d�+K«\ eT<ó�«>·\ uóñ<�+ ÿ¹¿ $<ó�+>± (d¾�sÁ+>±) eÚ+<�?

  (iv)  � d�+K«\ C²_Ô� ÿ¿£ n+¿£çXâ&ó� neÚÔáT+<�?

6.2.2  n+¿£çXâ&ó� �<ó�sÁ|�&û n+Xæ\T

6.2.1 o]ü¿£  (a)  qT+º (e)  esÁÅ£L �eÇ�&�q C²_Ô�\�� Å£L&� |�]$TÔá d�+K«ýË |�<�\qT ¿£*Ð

eÚH��sTT.  �ý²+{ì n+¿£çXâ&ó�T\qT |�]$TÔá n+¿£çXâ&ó�T\T n+{²sÁT.  M�ýË ºe] |�<�eTT eÚ+³T+~.  nsTTÔû

6.2  o]ü¿£ýË (i) qT+º (v) esÁÅ£L�eÇ�&�q   C²_Ô�ýýË |�<�\ d�+K« n|�]$TÔáeTT.  �ý²+{ì n+¿£çXâ&ó�T\qT

nq+Ôá n+¿£çXâ&ó�T\T n+{²+.  B�ýË ºe] |�<�eTT eÚ+&�<�T.

  �$ #ûjáT+&�

|�]$TÔá n+¿£çXâ&ó�¿ì 3 �<�V�²sÁD\T, nqsÔá n+¿£çXâ&ó�¿ì 3 �<�V�²sÁD\T �eTT�.

ÿ¿£ n+¿£çXâ&ó�� >·T]+º Ôî*jáÖ\+fñ eTqÅ£� @yûT$T ned�sÁeTT?  � çXâ&ó� jîTT¿£Ø yîTT<�{ì |�<�eTT Ôî*�dï

d�]bþÔáT+<�?  ýñ<� kÍeTq«uóñ<�+ Ôî*�dï d�]bþÔáT+<�?

nsTTÔû ÿ¿£ n+¿£çXâ&ó� >·T]+º Ôî*jáÖ\+fñ ýñ<� <��� |�P]ï #ûjáÖ\+fñ eTqÅ£� Âs+&�Ö ` nq>±

<�� yîTT<�{ì |�<�eTT  »aµ eT]jáTT kÍeÖq«uóñ<�+ »d µ Ôî*jáÖ\� eTq+ >·eT�+#á>·\+.  �<�V�²sÁDÅ£�

yîTT<�{ì |�<�eTT  a  $\Te  6 eT]jáTT kÍeÖq«uóñ<�+  d  $\Te 3 nsTTq n+¿£çXâ&ó� :

           6, 9,12, 15, . . .

eT]jáTT yîTT<�{ì |�<�eTT  a R 6 Ñ kÍeÖq« uóñ<�+ d R – 3 nsTTq

n+¿£çXâ&ó� : 6, 3, 0, –3, . . .

n<û$<ó�+>±

a = – 7, d = – 2,        nsTTq n+¿£çXâ&ó�    – 7, – 9, – 11, – 13, . . .

a = 1.0, d = 0.1,        nsTTq n+¿£çXâ&ó�   1.0, 1.1, 1.2, 1.3, . . .

a = 0, d = 1
1
2 ,       nsTTq n+¿£çXâ&ó�  0, 1

1
2 ,  3,  4

1
2 , 6, . . .

a = 2, d = 0,          nsTTq n+¿£çXâ&ó�   2,  2,  2,  2, . . .

nq>± a, d  $\Te\T Ôî*d¾q eTq+ n+¿£çXâ&ó�� s�jáT>·\+.

�+¿=¿£ eÖsÁZeTTqT ç|�jáTÜ�<�Ý+.  ÿ¿£yûÞø d�+K«\ C²_Ô� ��dï n~ n+¿£çXâ&ó� neÚÔáT+<�? ýñ<�? n�

mý² ¿£qT>=+{²+ ? �<�V�²sÁDÅ£�

6, 9, 12, 15, . . . ,

yîTT<�³>± eTq+ Âs+&�T esÁTd� d�+K«\ uóñ<�+qT ¿£qT>=+<�+.
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a2 – a1 = 9 – 6 = 3,
n<û $<ó�+>± a3 – a2 = 12 – 9 = 3,

a4 – a3 = 15 – 12 = 3
nq>±        2 1 3 2 3 ... 3na a a a a a- = - = - =

�ºÌq @ Âs+&�T esÁTd� d�+K«\ uóñ<�yîT®H� d¾�sÁ+>± eÚ+~.  nq>± @ d�+<�sÁÒÛ+ýË HîÕH� <�� $\Te

eTÖ&û.  n+<�Te\¢ �ºÌq d�+K«\ C²_Ô� ÿ¿£ n+¿£çXâ&ó� neÚÔáT+~.  B�ýË yîTT<�{ì |�<�eTT a R 6 eT]jáTT

kÍeÖq« uóñ<�+   d R 3.

eT]ÿ¿£ C²_Ô�  : 6, 3, 0, – 3, . . ., qT |�]o*<�Ý+.

�#áÌ³ a2 – a1 = 3 – 6 = – 3,
a3 – a2 = 0 – 3 = – 3
a4 – a3 = –3 – 0 = –3

2 1 3 2 4 3 3a a a a a a- = - = - = -

nq>± �~ Å£L&� ÿ¿£ n+¿£çXâ&ó�jûT.  B�ýË yîTT<�{ì |�<�eTT  a R 6, eT]jáTT kÍeÖq« uóñ<�+

d R –3.

n+fñ ÿ¿£ d�+K«\ C²_Ô�ýË Âs+&�T esÁTd� d�+K«\ uóñ<�+ d¾�sÁyîT®q n~ ÿ¿£ n+¿£çXâ&ó� neÚÔáT+~.

nq>± kÍ<ó�sÁD+>±  a1, a2, . . ., an  ÿ¿£ n+¿£çXâ&ó� nsTTq

d = ak + 1 – ak
�#áÌ³ ak + 1, ak  \T esÁTd�>±  (k + 1) eT]jáTT  k |�<�\T eT]jáTT k > 1
1, 1, 2, 3, 5, . . . . d�+K«\ C²_Ô�qT |�]o*+#á+&�.  B�ýË Âs+&�T esÁTd� |�<�\ eT<ó�« uóñ<�+

d¾�sÁ+>± (ÿ¹¿ $<ó�+>±) ýñ<�T.  n+<�Te\¢ �~ n+¿£çXâ&ó� ¿±<�T.

>·eT�¿£ : n+¿£çXâ&ó�  6, 3, 0, – 3, . . .,ýË d � ¿£qT>=qT³Å£� eTqeTT 3 qT+º 6qT rd¾yûd¾H�eTT.  n+Ôû¿±ú

6 qT+º 3qT ¿±<�T. nq>± (k + 1)e |�<�eTT ºq�<îÕq|�Î{ì¿¡ B� qT+#û  k e |�<�eTTqT rd¾yûjáÖ*.  �+¿±

ÿ¿£ n+¿£çXâ&ó�ýË d � ¿£qT>=qT³Å£� a2–a1, a3–a2,....  \qT n��+{ì� ¿£qT>=qe\d¾q ned�sÁ+ ýñ<�T.

y��ýË @<îÕH� ÿ¿£<�� $\TeqT ¿£qT>=+fñ d�]bþÔáT+~.

 �$ #ûjáT+&�

  1. @<îÕH� ÿ¿£ n+¿£çXâ&ó�� rd�T¿=qTeTT.

  2. � çXâ&ó�ýË� ç|�Ü |�<�eTTqÅ£� @<îÕH� ÿ¿£ d¾�sÁ d�+K«qT ¿£\T|�ÚeTT.  |��*Ôá d�+K«\qT C²_Ô� sÁÖ|�+ýË

s�jáTTeTT.

  3. n<û$<ó�+>± n+¿£çXâ&ó�ýË ç|�Ü |�<�eTT qT+º @<îÕH� ÿ¿£ d¾�sÁ d�+K«qT rd¾yûd¾ |��*Ôá d�+K«\qT

C²_Ô�>± s�jáTTeTT.

  4. n+¿£çXâ&ó�ýË� ç|�Ü |�<�eTTqT @<îÕH� ÿ¿£ d¾�sÁ d�+K«#û >·TDì+º |��*Ôá d�+K«\qT C²_Ô�>± s�jáTTeTT?

eT]jáTT n+¿£çXâ&ó�ýË� ç|�Ü |�<�eTTqT @<îÕH� ÿ¿£ d¾�sÁ d�+K«#û uó²Ð+º |��*Ôá d�+K«\qT C²_Ô�>±

s�jáTTeTT.
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5. ç¿=Ôáï>± @sÁÎ&�q C²_Ô�\�� n+¿£çXâ&ó�T\T neÚÔ�jûTyîÖ |�]o*+#áTeTT.

6. ºesÁ>± ú >·eT�¿£qT s�jáTTeTT.

�|�Ú&�T ¿=�� �<�V�²sÁD\qT |�]o*<�Ý+.

�<�V�²sÁD-1.  n+¿£çXâ&ó�  
1 1 3 5, , ,
4 4 4 4

- - -
 ........,  ýË yîTT<�{ì |�<�eTT a qT kÍeÖq« uóñ<�+ d \qT

¿£qT>=qTeTT?

kÍ<ó�q :  �#áÌ³ a =  
1
4   eT]jáTT  d = 

1 1 1
4 4 2
- -

- =

(�ºÌq~ n+¿£çXâ&ó� n� Ôî\Td�T ¿£qT¿£ d � ¿£qT>=qT³Å£� a2 – a1 qT eÖçÔáyûT �|�jîÖÐ+#�eTT.)

�<�V�²sÁD-2.  ç¿ì+~ y��ýË @$ n+¿£çXâ&ó�T\T? ÿ¿£yûÞø n+¿£çXâ&ó� nsTTÔû ÔásÁTy�Ôá e#ûÌ Âs+&�T |�<�\qT

¿£qT>=qTeTT.

(i) 4, 10, 16, 22, . . . (ii) 1, – 1, – 3, – 5, . . . (iii) – 2, 2, – 2, 2, – 2, . . .

(iv) 1, 1, 1, 2, 2, 2, 3, 3, 3, . . .  (v)  x, 2x, 3x, 4x ......

kÍ<ó�q : (i) �#áÌ³    a2 – a1 = 10 – 4 = 6

a3 – a2 = 16 – 10 = 6

a4 – a3 = 22 – 16 = 6

nq>±     ak + 1 – ak $\Te ç|�rkÍ] d¾�sÁeTT / d�eÖqeTT.

�ºÌq C²_Ô� ÿ¿£ n+¿£çXâ&ó� neÚÔáT+~.  B� kÍeÖq«  uóñ<�+  d = 6.

C²_Ô�ýË ÔásÁTy�Ôá e#ûÌ Âs+&�T |�<�\T : 22 + 6 = 28 eT]jáTT 28 + 6 = 34.

(ii) a2 – a1 = – 1 – 1 = – 2

a3 – a2 = – 3 – ( –1 ) = – 3 + 1 = – 2

a4 – a3 = – 5 – ( –3 ) = – 5 + 3 = – 2

nq>± ak + 1 – ak  $\Te ç|�ÜkÍ] d¾�sÁeTT ýñ<� d�eÖqeTT.

�ºÌq C²_Ô� ÿ¿£ n+¿£çXâ&ó� neÚÔáT+~.  B� kÍeÖq« uóñ<�+ d = – 2.

C²_Ô�ýË ÔásÁTy�Ôá e#ûÌ Âs+&�T |�<�\T

– 5 + (– 2 ) = – 7 eT]jáTT – 7 + (– 2 ) = – 9
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(iii) a2 – a1 = 2 – (– 2) = 2 + 2 = 4
a3 – a2 = – 2 – 2 = – 4

�#áÌ³ a2 – a1 ¹  a3 – a2,  nq>± �ºÌq d�+K«\ C²_Ô� n+¿£çXâ&ó�� @sÁÎsÁ#á<�T.

(iv) a2 – a1 = 1 – 1 = 0
a3 – a2 = 1 – 1 = 0
a4 – a3 = 2 – 1 = 1

�#áÌ³, a2 – a1 = a3 – a2 ¹   a4 – a3.

nq>± �ºÌq d�+K«\ C²_Ô� n+¿£çXâ&ó�� @sÁÎsÁ#á<�T.

(v)      a2 – a1 = 2x – x = x

a3 – a2 = 3x – 2x = x

a4 – a3 = 4x – 3x = x

�#áÌ³ n�� d�+<�s�ÒÛ\ýË ak+1 – ak $\Te\T d�eÖqeTT.  ¿£qT¿£ �ºÌq C²_Ô� ÿ¿£ n+¿£çXâ&ó�

neÚÔáT+~.  ÔásÁTy�Ü Âs+&�T |�<�\T  :  4x + x = 5x  eT]jáTT 5x + x = 6x.

   nuó²«d�eTT - 6.1

1. � ç¿ì+~ d�+|��T³q\ýË @ d�+|��T³qýË @sÁÎ&û d�+K«\ C²_Ô� n+¿£çXâ&ó� neÚÔáT+~?  m+<�TÅ£�?

(i) ÿ¿£ {²¿¡à¿ì yîTT<�{ì ¿ìýËMT³sY ç|�jáÖD²�¿ì  ̀  20 #=|�ðq, ÔásÁTy�Ôá ç|�Ü ¿ìýËMT³sYÅ£�

` 8 #=|�ðq #î*¢+#áe\d¾q kõeTT�.

(ii) ÿ¿£ y�Å£L«y�T |�+|�Ú d¾ýÉ+&�sÁTýË eÚ+&û >±* qT+º 
1
4 e+ÔáT rd¾yûjáTTqT.  nsTTq

ç|�ÜkÍ¯ d¾ýÉ+&�sÁTýË $TÐ* eÚ+&û >±* |�]eÖDeTT.

(iii) ÿ¿£ u²$� ÔáeÇ&��¿ì yîTT<�³ MT³sÁTÅ£�  ` 150 e+ÔáTq ��|Õ ç|�Ü MT³sÁTÅ£�  ` 50
e+ÔáTq �|+#áTÔáÖ n~ó¿£+>± #î*¢+#�*.  nsTTq ç|�Ü MT³sÁTÅ£� #î*¢+#áe\d¾q kõeTT�.

(iv) ÿ¿£ u²«+Å£�ýË ̀ 10000 \qT d�+eÔáàs��¿ì 8  XæÔá+ #áç¿£e&�¦ ç|�¿±sÁ+ bõ<�T|�Ú #ûd¾q ç|�Ü

d�+eÔáàsÁeTT ºesÁýË U²Ô�ýË eÚ+&û kõeTT�.

2. n+¿£çXâ&ó�T\ jîTT¿£Ø yîTT<�{ì |�<�eTT a eT]jáTT kÍeÖq«uóñ<�+ d  $\Te\T ç¿ì+<� �eÇ�&�q$.  nsTTq

çXâ&ó�ýË� yîTT<�{ì H�\T>·T |�<�\qT ¿£qT>=qTeTT.

(i) a = 10, d = 10 (ii) a = –2, d = 0

(iii) a = 4, d = – 3 (iv) a = – 1, d = 
1
2

(v) a = – 1.25, d = – 0.25
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3. ç¿ì+<� �eÇ�&�q n+¿£çXâ&ó�T\Å£� yîTT<�{ì |�<�eTTqT, kÍeÖq« uóñ<�+qT ¿£qT>=qTeTT.

(i) 3, 1, – 1, – 3, . . . (ii) – 5, – 1, 3, 7, . . .

(iii)
1 5 9 13, , , ,....
3 3 3 3 (iv) 0.6, 1.7, 2.8, 3.9, . . .

4. ç¿ì+~ C²_Ô�\ýË @$ n+¿£çXâ&ó�T\T?  n+¿£çXâ&ó� nsTTq kÍeÖq« uóñ<�+  d qT, ÔásÁTy�Ôá e#ûÌ eTÖ&�T

|�<�\qT ¿£qT>=qTeTT.

(i) 2, 4, 8, 16, . . . (ii)
5 72, ,3, ,....
2 2

(iii) – 1.2, – 3.2, – 5.2, – 7.2, . . . (iv) – 10, – 6, – 2, 2, . . .

(v) 3, 3 2,3 2 2,3 3 2,....+ + +  (vi) 0.2, 0.22, 0.222, 0.2222, . . .

(vii) 0, – 4, – 8, –12, . . . (viii)
1 1 1 1, , , ,....
2 2 2 2

- - - -

(ix) 1, 3, 9, 27, . . . (x) a, 2a, 3a, 4a, . . .

(xi) a, a2, a3, a4, . . . (xii) 2, 8, 18, 32,.....

(xiii) 3, 6, 9, 12,.....

6.3  n+¿£çXâ&ó� jîTT¿£Ø n e |�<�eTT

o]ü¿£ 6.1ýË #á]Ì+ºq »�w�µ $w�jáÖ�� eT] ÿ¿£kÍ] |�]o*<�Ý+.  �yîTqT Hî\Å£�  ` 8000 #=|�ðq

eT]jáTT d�+eÔáàsÁeTTqÅ£�  ̀  500 #=|�ðq �|+#û $<ó�+>± eÚq� �<Ã«>·+ýË �jáT$T+#á³+ È]Ð+~.  nsTTÔû

�<Ã«>·+ýË #û]q ÔásÁTy�Ôá 5 e d�+eÔáàsÁ+ýË �yîT Hî\ JÔá+ m+Ôá eÚ+&�e#áTÌ? B�¿ì d�eÖ<ó�q+ ¿£qT>=H�\+fñ

eTT+<�T �<Ã«>·+ýË #û]q ÔásÁTy�Ôá Âs+&�e d�+eÔáàsÁ+ýË �yîT Hî\ JÔáeTTqT ¿£qT>=H�*.

n~  ` (8000 + 500) = ` 8500.

�<û $<ó�+>±  3e, 4e, 5e d�+öö\ýË �yîT Hî\ JÔáeTTqT eTT+<�T d�+eÔáàsÁeTTýË eÚq� JÔ��¿ì ̀  500
¿£\|�³+ <�Çs� ¿£qT>=qe#áTÌ.

   \  3e d�+ööýË �yîT Hî\ JÔáeTT = ` (8500 + 500)

= ` (8000 + 500 + 500)

= ` (8000 + 2 × 500)

= ` [8000 + (3 – 1) × 500] (3e d�+eÔáàsÁeTT)

= ` 9000

4e d�+ööýË �yîT Hî\ JÔáeTT = ` (9000 + 500)

= ` (8000 + 500 + 500 + 500)
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= ` (8000 + 3 × 500)

= ` [8000 + (4 – 1) × 500] (4e d�+eÔáàsÁeTT)

= ` 9500

5e d�+ööýË �yîT Hî\ JÔáeTT = ` (9500 + 500)

= ` (8000+500+500+500 + 500)

= ` (8000 + 4 × 500)

= ` [8000 + (5 – 1) × 500] (5e d�+eÔáàsÁeTT)

= ` 10000

�|Õ y�� qT+º ÿ¿£ d�+K«\ C²_Ô� @sÁÎ&�³+ eTq+ >·eT�+#áe#áTÌqT. n~ ç¿ì+~ $<ó�+>± eÚ+³T+~.

8000, 8500, 9000, 9500, 10000, . . .

�~ ÿ¿£ n+¿£çXâ&ó�.

�|Õ neT]¿£ �<ó�sÁ+>±  6 
e,  15e d�+öö\ýË �yîT jîTT¿£Ø JÔáeTTqT ¿£qT>=q>·\eÖ? �yîT ÿ¿£yûÞø 25

d�+eÔáàsÁeTT\ bÍ³T n<û �<Ã«>·+ýË ¿=qkÍÐÔû  25 e d�+eÔáàsÁeTTýË �yîT Hî\ JÔáeTTqT ¿£qT>=q>·\eÖ? ç|�Ü

d�+eÔáàsÁeTT �yîT Hî\ JÔáeTTqT eTT+<�Tq� d�+eÔáàsÁeTTýË �yîT Hî\ JÔ��¿ì  ` 500  ¿£\|�³+ <�Çs�

¿£qT>=qe#áTÌ.  nsTTÔû B�� MýÉÕq+Ôá ÔáÅ£�Øe d�eTjáT+ýË MýÉÕq+Ôá d�T\uó�+>± ¿£qT>=q>·\eÖ? �|Õ ç|�ç¿ìjáT\ýË

JÔáeTTqT ¿£qT>=Hû $<ó�q+ eTqÅ£� ¿=+Ôá ne>±V�²q nsTTq~ ¿£qT¿£ <��� �|�jîÖÐ<�Ý+.

 15e d�+eÔáàsÁeTTýË Hî\ JÔáeTT =    14e d�+ööeTT\T JÔáeTT + ` 500

= 
13

8000 500 500 500 ... 500 500
é ù

+ + + + + +ê ú
ê úë û

14444244443` `
kÍsÁT¢

=  ` [8000 + 14 × 500]

= ` [8000 + (15 – 1) × 500] = ` 15000

nq>± yîTT<�{ì JÔá+ + (15 – 1) × d�+eÔáàsÁeTTqÅ£� �|]¹>~.

n<û$<ó�+>± 25e d�+eÔáàsÁeTTýË �yîT Hî\ JÔá+

` [8000 + (25 – 1) × 500] = ` 20000

=  yîTT<�{ì JÔá+ + (25 – 1) × d�+eÔáàsÁeTTqÅ£� �|]¹>~

� �<�V�²sÁD ÿ¿£ n+¿£çXâ&ó�ýË15e |�<�eTTqT, 25e |�<�eTTqT s�jáTT³Å£� ¿±e\d¾q ÿ¿£ d�T\TeÚ |�<�ÆÜ�

�ºÌ+~.  �<û |�<�ÆÜ� �|�jîÖÐ+º ÿ¿£ n+¿£çXâ&ó� jîTT¿£Ø  n e |�<�eTTqT ¿£qT>=+<�+.

a1, a2, a3, . . . nHû ÿ¿£ n+¿£çXâ&ó�� rd�TÅ£�+<�+.

B�ýË yîTT<�{ì |�<�+ a1 R a eT]jáTT kÍeÖq«uóñ<�+ R d nqTÅ£�+<�+.

SCERT, T
ELA

NGANA



10e ÔásÁ>·Ü >·DìÔá+1 4 0

Ôî\+>±D ç|�uó�TÔáÇ+ y�]#û �ºÔá |�+|¾Dì 2021`22

\ Âs+&�e |�<�+  a2 = a + d = a + (2 – 1) d

eTÖ&�e |�<�+  a3 = a2 + d = (a + d) + d = a + 2d = a + (3 – 1) d
H�\Ze |�<�+ a4 = a3 + d = (a + 2d) + d = a + 3d = a + (4 – 1) d

. . . . . . . .

. . . . . . . .
�|Õ neT]¿£ �<ó�sÁ+>±  n e |�<�+ an = a + (n – 1) d n� #î|�Îe#áTÌ.
nq>± yîTT<�{ì |�<�+ a, kÍeÖq« uóñ<�+ d >± eÚ+fñ n+¿£çXâ&ó� jîTT¿£Ø ne |�<�eTT

an = a + (n – 1) d.
an qT n+¿£çXâ&ó� jîTT¿£Ø kÍ<ó�sÁD |�<�eTT n�Å£L&� n+{²+.

ÿ¿£ n+¿£çXâ&ó�ýË  m |�<�\Tq�  me |�<�eTT ºe] |�<�+ neÚÔáT+~.  B�� ¿=��kÍsÁT¢  »lµ #ûÔá Å£L&�

d�ÖºkÍïsÁT.
n+¿£çXâ&ó�ýË |�<�\qT ¿£qT>=qT³ : �|Õ d�ÖçÔáeTTqT �|�jîÖÐ+º ÿ¿£ n+¿£çXâ&ó�ýË� $$<ó� |�<�\qT

¿£qT>=qe#áTÌ.

¿=�� �<�V�²sÁD\qT |�]o*<�Ý+.

�<�V�²sÁD-3.  5, 1, –3, –7 . . .n+¿£çXâ&ó�ýË 10e |�<�eTTqT ¿£qT>=qTeTT.

kÍ<ó�q : �#áÌ³, a = 5, d = 1 – 5 = – 4 eT]jáTT n = 10.

          an = a + (n – 1) d qT+º

   a10 = 5 + (10 – 1) (–4)  = 5 – 36 = –31

\ n+¿£çXâ&ó�ýË 10e |�<�eTT R  – 31.

�<�V�²sÁD-4.  21, 18, 15, . . . n+¿£çXâ&ó�ýË mq�e |�<�eTT »– 81µ neÚÔáT+~?

@<îÕH� ÿ¿£ |�<�eTT »0µ neÚÔáT+<�? ú d�eÖ<ó�qeTTqÅ£� ¿±sÁD²*eTT� ?

kÍ<ó�q : �#áÌ³ a = 21, d = 18 – 21 = – 3 eT]jáTT an = – 81,
an = a + ( n – 1) d,
– 81 = 21 + (n – 1)(– 3)
– 81 = 24 – 3n
– 105 = – 3n
\  n = 35

nq>± �|Õ n+¿£çXâ&ó�ýË 35e |�<�eTT  – 81 neÚÔáT+~.

ÔásÁTy�Ôá an = 0 njûT« $<ó�+>± n qT ¿£qT>=H�*.

                             Þ  21 + (n – 1) (–3) = 0,
             3(n – 1) = 21
                        n = 8

nq>± n+¿£çXâ&ó�ýË 8e |�<�eTT d�TH�� neÚÔáT+~.
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�<�V�²sÁD-5.  3e |�<�eTT 5Ñ 7 
e |�<�eTT 9>± eÚ+&�Tq³T¢ ÿ¿£ n+¿£çXâ&ó�� ¿£qT>=qTeTT.

kÍ<ó�q :

a3 = a + (3 – 1) d = a + 2d = 5 (1)

a7 = a + (7 – 1) d = a + 6d = 9 (2)

d�MT¿£sÁD²\T (1) eT]jáTT (2) \qT kÍ~ó+#á>±

a = 3, d = 1

\ ¿±e\d¾q n+¿£çXâ&ó� : 3, 4, 5, 6, 7, . . .

�<�V�²sÁD-6.  5, 11, 17, 23, . . . C²_Ô�ýË 301 eÚ+³T+<Ã ýñ<Ã ¿£qT>=qTeTT.

kÍ<ó�q :  �#áÌ³

a2 – a1 = 11 – 5 = 6, a3 – a2 = 17 – 11 = 6, a4 – a3 = 23 – 17 = 6

nq>±  k = 1, 2, 3,.... \Å£� (ak + 1 – ak) d¾�sÁeTT.

\ �eÇ�&�q d�+K«\ C²_Ô� ÿ¿£ n+¿£çXâ&ó� neÚÔáT+~.

� n+¿£çXâ&ó�ýË a = 5 eT]jáTT d = 6

�¿£ 301 � C²_Ô�ýË eÚ+³T+<Ã? eÚ+&�<Ã ? ¿£qT>=H�*.  B�� �sÁ�sTT+#áT³Å£�  301 � C²_Ô�ýË

ne |�<�+>± eÚ+<�qTÅ£�+<�+.  nq>± an = 301.

nsTTÔû

an = a + (n – 1) d n� eTqÅ£� Ôî\Td�T.

\ 301 = 5 + (n – 1) × 6

ýñ<� 301  = 6n – 1

\      n =  
302 151

6 3
=

nsTTÔû  n  ÿ¿£ <ó�q |�PsÁ� d�+K« ¿±eýÉqT (m+<�TÅ£�?)

¿£qT¿£ 301�ºÌq C²_Ô�ýË eÚ+&�<�T.

�<�V�²sÁD-7.  3 #û uó²Ð+#á�&û Âs+&�+Â¿\ d�+K«\T m��?

kÍ<ó�q : 3 #û uó²Ð+#á�&û Âs+&�+Â¿\ d�+K«\ C²_Ô� :

12, 15, 18, . . . , 99

�~ ÿ¿£ n+¿£çXâ&ó�jûTH�? neÚqT.  �#áÌ³, a = 12, d = 3, an = 99.
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an = a + (n – 1) d n� eTqÅ£� Ôî\Td�T.

99 = 12 + (n – 1) × 3

87 = (n – 1) × 3

n – 1 = 
87 29
3

=

n = 29 + 1 = 30   (30e |�<�eTT 99 neÚsÔáT+~)

¿±eÚq 3#û uó²Ð+#á�&û Âs+&�+Â¿\ d�+K«\T 30 >·\eÚ.

�<�V�²sÁD-8.   10, 7, 4, . . ., – 62 n+¿£çXâ&ó�ýË ºe] qT+º 11e |�<�eTTqT ¿£qT>=qTeTT?

kÍ<ó�q : �#áÌ³, a = 10, d = 7 – 10 = – 3, l = – 62,

 ºe] qT+º 11e |�<�eTTqT ¿£qT>=qeýÉqq� eTT+<�T>± çXâ&ó�ýË m�� |�<�\T eÚq�yÃ ¿£qT>=qeýÉqT.

nsTTÔû

l = a + (n – 1) d  n� eTqÅ£� Ôî\Td�T.

– 62 = 10 + (n – 1)(–3)
– 72 = (n – 1)(–3)
n – 1 = 24
n = 25

nq>± �eÇ�&�q n+¿£çXâ&ó�ýË  25 |�<�\T eÚ+{²sTT.

n+fñ ºe] qT+º  11e |�<�eTT yîTT<�{ì qT+º  15e |�<�+ neÚÔáT+~.  (14e |�<�+ ¿±<�T

m+<�TÅ£�?)

\ a15 = 10 + (15 – 1)(–3) = 10 – 42 = – 32

ºe] qT+º 11e |�<�eTT R – 32.

>·eT�¿£ : �|Õ çXâ&ó�ýË ºe] qT+&� 11e |�<�eTTÑ – 62  yîTT<�{ì |�<�+>±, kÍeÖq« uóñ<�+ 3 >± >·\ çXâ&ó�ýË 11e

|�<�eTT d�eÖqeTT.

�<�V�²sÁD-9.   ` 1000 \Å£� d�+eÔáàs��¿ì 8%  u²sÁTe&�¦ ç|�¿±sÁeTT ç|�Ü d�+eÔáàs�+Ô��¿ì njûT« e&�¦�

¿£qT>=qTeTT. � e&�¦\ C²_Ô� ÿ¿£ n+¿£çXâ&ó� neÚÔáT+<�? ÿ¿£yûÞø n+¿£çXâ&ó� nsTTÔû 30 e d�+ööeTT ºesÁ njûT«

e&�¦� ¿£qT>=qTeTT.

kÍ<ó�q :  u²sÁTe&�¦� ¿£qT>=qT³Å£� d�ÖçÔáeTT   
P R T

100
´ ´

 n� eTqÅ£� Ôî\Td�T.

1e d�+ööeTT ºesÁ njûT« e&�¦  =  ` 
1000 8 1

100
´ ´

 = Rs 80

2e d�+ööeTT ºesÁ njûT« e&�¦   =  `
1000 8 2

100
´ ´

 =  `160
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3e d�+ööeTT ºesÁ njûT« e&�¦  =  ` 
1000 8 3

100
´ ´

 = ` 240

� $<ó�+>± 4e, 5e .... d�+öö\ ºesÁ njûT« e&�¦\Å£� ¿£qT>=qe#áTÌ.  nq>± 1e, 2e, 3e, . . .d�+öö\

ºesÁ njûT« e&�¦\ $\Te esÁTd�>±

80, 160, 240, . . .

�|Õ C²_Ô�ýË Âs+&�T esÁTd� |�<�\ uñ<ó�eTT  80 d¾�sÁeTT ¿£qT¿£ �~ ÿ¿£ n+¿£çXâ&ó� neÚÔáT+~.

�#áÌ³ a = 80 Ñ  d = 80.

nq>± 30 d�+öö\ ºesÁ njûT« e&�¦� ¿£qT>=qeýÉqq� eTqeTT a30� ¿£qT>=qeýÉ.

\ a30 = a + (30 – 1) d = 80 + 29 × 80 = 2400

\ 30 d�+ööeTT\ ºesÁ njûT« e&�¦ R ` 2400.

�<�V�²sÁD-10.  ÿ¿£ |�P\bÍ<�TýË yîTT<�{ì esÁTd�ýË  23 >·Tý²; #î³T¢ Âs+&�e esÁTd�ýË  21, eTÖ&�e esÁTd�ýË

19 ...... eÚH��sTT.  ºe] esÁTd�ýË  5 #î³T¢ eÚq� >·Tý²; #î³¢ esÁTd�ýÉ��?

kÍ<ó�q : 1e, 2e, 3e, . . .,  ºe] esÁTd�ýË� #î³¢ d�+K« esÁTd�>±

23, 21, 19, . . ., 5

�~ ÿ¿£ n+¿£çXâ&ó� (m+<�TÅ£� ?).

|�P\bÍ<�TýË� esÁTd�\ d�+K« n nqT¿=�q

a = 23, d = 21 – 23 = – 2, an = 5

\ an = a + (n – 1) d

5 = 23 + (n – 1)(– 2)

Þ – 18 = (n – 1)(– 2)

Þ n = 10

\  |�P\ bÍ<�TýË� esÁTd�\ d�+K« R 10.

  nuó²«d�eTT - 6.2

1. yîTT<�{ì |�<�eTT a, kÍeÖq« uñ<ó�eTT  d ,  ne |�<�eTT an nsTTq ç¿ì+~ |�{ì¼¿£qT |�P]+|�ÚeTT.

S. No. a d n an

(i) 7  3 8 . . .

(ii) – 18 . . . 10 0
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(iii) . . . – 3 18 – 5

(iv) – 18.9 2.5 . . . 3.6

(v) 3.5 0 105 . . .

2. ç¿ì+~ y��� ¿£qT>=qTeTT

(i) 10, 7, 4 ...... n+¿£çXâ&ó�ýË 30e |�<�eTT.

(ii)
13, , 2,.....

2
-

-  n+¿£çXâ&ó�ýË 11e |�<�eTT.

3. ç¿ì+~ y��� ¿£qT>=qTeTT.

(i) a1 = 2;  a3 = 26  nsTTq a2 qT ¿£qT>=qTeTT

(ii) a2 = 13;  a4 = 3 nsTTq  a1, a3  \qT ¿£qT>=qTeTT

(iii) a1 = 5; a4 = 9
1
2   nsTTq a2, a3 \qT ¿£qT>=qTeTT

(iv) a1 = -4; a6 = 6  nsTTq  a2, a3, a4, a5 \qT ¿£qT>=qTeTT

(v) a2 = 38;  a6 = -22 nsTTq  a1, a3, a4, a5 \qT ¿£qT>=qTeTT

4. 3, 8, 13, 18, . . .  n+¿£çXâ&ó�ýË mq�e |�<�eTT 78 neÚÔáT+~?

5. ç¿ì+<� �eÇ�&�q n+¿£çXâ&ó�T\ýË� |�<�\ d�+K«qT ¿£qT>=qTeTT.

(i) 7, 13, 19, . . . , 205 (ii) 18, 15
1
2 , 13, ..., -47

6. 11, 8, 5, 2 . . .n+¿£çXâ&ó�ýË »–150µ ÿ¿£ |�<�+>± eÚ+³T+<Ã ýñ<Ã |�]o*+#áTeTT/¿£qT>=qTeTT.

7. ÿ¿£ n+¿£çXâ&ó�ýË 11e |�<�eTT 38 eT]jáTT 16e |�<�eTT 73 nsTTq 31e |�<�eTTqT ¿£qT>=qTeTT.

8. ÿ¿£ n+¿£çXâ&ó�ýË  3e, 9 e |�<�\T esÁTd�>±  4, – 8 nsTTq mq�e |�<�eTT »0µ (d�TH��) neÚÔáT+~?

9. ÿ¿£ n+¿£çXâ&ó�ýË 17e |�<�eTT 10e |�<�+¿£+fñ  7 mÅ£�Øe.  nsTTq kÍeÖq« uóñ<�+ m+Ôá?

10. Âs+&�T n+¿£çXâ&ó�T\ kÍeÖq« uóñ<�+ d�eÖqeTT.  y�� 100e |�<�\ eT<ó�« uóñ<�+ 100 nsTTq y��

1000e |�<�\ eT<ó�« uóñ<�+ yîT+Ôá?

11. 7 #û uó²Ð+#á�&û eTÖ&�+Â¿\ d�+K«\T m�� ¿£\eÚ?

12. 10 eT]jáTT 250 \ eT<ó�«>·\ 4 jîTT¿£Ø >·TDìC²\ d�+K«qT ¿£qT>=qTeTT.

13. 63, 65, 67, . .. eT]jáTT 3, 10, 17, . . . n+¿£çXâ&ó�T\  ne |�<�\T d�eÖqeTT nsTTq n $\TeqT

¿£qT>=qTeTT?

14. ÿ¿£ n+¿£çXâ&ó�ýË 3 e |�<�eTT 16 >± Ñ 7e |�<�eTT, 5e |�<�eTT ¿£+fñ 12 mÅ£�Øe nsTTq n+¿£çXâ&ó��

¿£qT>=qTeTT.

15. 3, 8, 13, . . ., 253 n+¿£çXâ&ó� jîTT¿£Ø  ºesÁ qT+º 20e |�<�eTTqT ¿£qT>=qTeTT.
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16. ÿ¿£ n+¿£çXâ&ó�ýË 4e, 8e |�<�\ yîTTÔáïeTT 24 eT]jáTT 6e, 10e |�<�\ yîTTÔáïeTT 44 nsTTq yîTT<�{ì

eTÖ&�T |�<�\qT ¿£qT>=qTeTT.

17. d�Tu²Òs�eÚ 1995 e d�+ööýË Hî\Å£� ̀  5000 JÔá+ÔÃ �<Ã«>·+ýË #ûs�&�T.  nÔá� JÔáeTT d�+ööeTTqÅ£�

` 200 �|]Ðq nÔá� JÔáeTT @ d�+ööeTT\ýË  ` 7000 neÚÔáT+~?

6.4   ÿ¿£ n+¿£çXâ&ó�ýË yîTT<�{ì n |�<�\ yîTTÔáïeTT

o]ü¿£ 6.1 ýË #á]Ì+ºq �V²eT $w�jáÖ�� eT]jîTT¿£ kÍ] |�]o*<�Ý+.

�yîT Ôáq Å£LÔáTsÁT yîTT<�{ì |�Ú{ì¼qsÃEq  ̀  1000 \T Âs+&�e |�Ú{ì¼q sÃEq

`1500 , eTÖ&�e |�Ú{ì¼q sÃEq  ̀ 2000 .... ÿ¿£ &��TÒ\T �|fÉ¼ýË eÚ+#áTÔáÖ

bþsTT+~.  nsTTÔû �yîT Å£LÔáTsÁT jîTT¿£Ø 21 e |�Ú{ì¼q sÃE ÔásÁy�Ôá &��TÒ\

�|fÉ¼ýË� kõeTT� yîTTÔáï+ m+Ôá eÚ+³T+~?

�#áÌ³ yîTT<�{ì, Âs+&�e, eTÖ&�e ..... |�Ú{ì¼q sÃEq �|fÉ¼ýË eÚ+ºq

kõeTT� $\Te\T esÁTd�>±  ` 1000,  ` 1500,  ̀  2000,  . . .  �ý² 21e

|�Ú{ì¼q sÃE esÁÅ£L ¿=qkÍÐ+#á�&�+~. 21e |�Ú{ì¼q sÃE ÔásÁy�Ôá �|fÉ¼ýË�

yîTTÔáï+ kõeTT�qT ¿£qT>=qeýÉqq� �|Õ C²_Ô�ýË  21 |�<�\qT esÁTd�>± s�d¾

y�� yîTTÔáïeTTqT ¿£qT>=qe\d¾ eÚ+³T+~.  � $<ó�+>± #ûjáT³+ d�eTjáT+ e�<ó� #ûjáT³yûT ¿±Å£�+&� ¿£w�¼yîT®q~>±

MTsÁT uó²$+#á³+ ýñ<�?  B�� ÔáÅ£�Øe d�eTjáT+ýË d�T\uó�+>± #ûjáTýñeÖ?

6.4.1   »>�dtµ  |�<�\ yîTTÔáï+ ¿£qT>=q� $<ó�q+

>�dt 10 d�+öö\ ejáTd�TàýË kÍ~ó+ºq ÿ¿£ d�eTd�«qT �|�Ú&�T eTqeTT |�]o*<�Ý+.

�ÔáqT 10d�+öö\ ejáTd�TàýË eÚq�|�Ú&�T 1 qT+º 100 esÁÅ£L >·\ n�� d�+K«\

yîTTÔáï+ m+Ôá?  n� �Ôá�� ç|�¥�+#á³+ È]Ð+~.  �ÔáqT <��¿ì d�eÖ<ó�q+>±

5050 n� #î|¾ÎH�&�T.  nÔáqT @$<ó�+>± d�eÖ<ó�q+ #îbÍÎ&Ã }V¾²+#á>·\s� ?

nÔáqT <��� � ç¿ì+~ $<ó�+>± s�kÍ&�T.

S = 1 + 2 + 3 + . . . + 99 + 100

Ü]Ð nÔáqT B�Hû ç¿£eT+ eÖ]Ì ç¿ì+<� $<ó�+>± s�kÍ&�T.

S = 100 + 99 + . . . + 3 + 2 + 1

nÔáqT � Âs+&�+{ìú |�<�\ y�]>± Å£L&� d�Ö¿¡��¿£]+º |��*ÔáeTTqT � ç¿ì+~ $<ó�+>± ¿£qT>=H��&�T.

    2S = (100 + 1) + (99 + 2) + . . . + (3 + 98) + (2 + 99) + (1 + 100)

          = 101 + 101 + . . . + 101 + 101 (100 kÍsÁT¢)

      (B�� �ýËº+#áTeTT eT]jáTT d�]#áÖ&�TeTT)

S = 
100 101

2
´

 =  5050,     yîTTÔáïeTT = 5050.

¿±sY¢ ç�|�&�]¿ù >�dt

(1777`1855) ç|�U²«Ôá

ÈsÁ�H� >·DìÔá XægEã&�T
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6.4.2  n+¿£çXâ&ó�ýË n  |�<�\ yîTTÔáïeTT

eTq+ Å£L&� a, a + d, a + 2d, . . . çXâ&ó�ýË n |�<�\ yîTTÔ�ï�� ¿£qT>=qT³Å£� >�dt |�<�ÆÜHû bÍ{ì<�Ý+.

�|Õ çXâ&ó� jîTT¿£Ø  ne |�<�eTT an nqT¿=�q,  an =  a + (n – 1)d

�|Õ çXâ&ó�ýË yîTT<�{ì  n |�<�\ yîTTÔáïeTT Sn nqT¿=�q

nS ( ) ( 2 ) ... ( 1)a a d a d a n d= + + + + + + + -

ç¿£eT+ eÖ]Ì s�jáT>±

nS [ ( 1) ] [ ( 2) ] ...a n d a n d a= + - + + - + +

|�<�\ y�]>± Å£L&�>±  2Sn =  [2a + (n - 1)d ] + [2a + (n - 1)d ] + .... + [2a + (n - 1)d ] (n kÍsÁT¢)
      =  n[2a + (n - 1)d ]

\  Sn [2 ( 1) ]
2
n a n d= + - [ ( 1) ]

2
n a a n d= + + -

     
2
n

=  [yîTT<�{ì|�<�+ + ne |�<�+]
2
n

= (a+  an)

Sn [2 ( 1) ]
2
n a n d= + - ýñ<�  Sn ( )

2
n a l= +  [Q an = a + (n-1)d]

 ÿ¿£ n+¿£çXâ&�ýË yîTT<�{ì |�<�eTT, ºe] |�<�eTT\T eÖçÔáyûT Ôî*d¾ kÍeÖq« uóñ<�+ Ôî*jáTTq|�Ú&�T

Sn 2
n

= (a+  an) ýñ<� Sn ( )
2
n a l= +  (ºe] |�<�+ l nsTTq|�ð&�T) d�ÖçÔáeTTqT �|�jîÖÐ+º SnqT

d�T\uó�+>± ¿£qT>=qe#áTÌ.

|�]#ájáT+ 6.1ýË� (c) �<�V�²sÁDqT eT°¢ |�]o*<�Ý+.

�V²eT Å£LÔáTsÁT jîTT¿£Ø  1e, 2e, 3e, 4e, . . .,  |�Ú{ì¼q sÃEq �|fÉ¼ýË eÚ+#û kõeTT� esÁTd�>± 1000,

1500, 2000, 2500, . . .,

�~ ÿ¿£ n+¿£çXâ&ó�.  eTqeTT �V²eT Å£LÔáTsÁT jîTT¿£Ø 21e |�Ú{ì¼qsÃE nq+ÔásÁeTT �|fÉ¼ýË� yîTTÔáï+

kõeTT�qT ¿£qT>=H�*.

�#áÌ³, a = 1000, d = 500 eT]jáTT n = 21

Sn [2 ( 1) ],
2
n a n d= + -

S = 
21[2 1000 (21 1) 500]
2

´ + - ´

=  
21[2000 10000]
2

+

   =  
21[12000] 126000
2

=
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21e |�Ú{ì¼q sÃE ÔásÁy�Ôá �|fÉ¼ýË� yîTTÔáï+ kõeTT�  R ̀  1,26,000.

S �<�T\T>± Sn qT y�&�T<�+.  B�e\¢ m�� |�<�\ yîTTÔáï+ eTq+ ¿£qT>=+³TH��yîÖ Ôî\Td�Tï+~.  yîTT<�{ì

20 |�<�\ yîTTÔáïeTTqT ¿£qT>=qT³Å£� eTq+  S20 � y�&�Ô�+.  eTq+ n+¿£çXâ&ó�ýË yîTT<�{ì n |�<�\ yîTTÔ�ï��

¿£qT>=qT³Å£� �|�jîÖÐ+#û d�ÖçÔáeTTýË H�\T>·T s�Xø�\T ¿£\eÚ.  n$  Sn, a, d  eT]jáTT n .  M�ýË @yîÕH�

eTÖ&�T s�Xø�\ $\Te\T Ôî*|¾q H�\Ze s�¥� ¿£qT>=q>·\+.

>·eT�¿£ : ÿ¿£ n+¿£çXâ&ó�ýË yîTT<�{ì n |�<�\ yîTTÔáï+ qT+º yîTT<�{ì  (n – 1) |�<�\ yîTTÔ�ï�� rd¾yûd¾q �çXâ&ó�

jîTT¿£Ø ne |�<�eTT ed�Tï+~.  nq>± an = Sn – Sn – 1.

  �$ #ûjáT+&�

ç¿ì+<� �eÇ�&�q ç|�Ü n+¿£çXâ&ó�ýË �|s=Øq� |�<�\ yîTTÔáïeTTqT ¿£qT>=qTeTT.

(i) 16, 11, 6 .....;  23 |�<�\T (ii) -0.5, -1.0, -1.5, .....; 10 |�<�\T

(iii)
1 31, , .....,
4 2

- 10 |�<�\T

¿=�� �<�V�²sÁD\qT |�]o*<�Ý+.

�<�V�²sÁD-11.  ÿ¿£ n+¿£çXâ&ó�ýË yîTT<�{ì |�<�+ 10 eT]jáTT yîTT<�{ì 14 |�<�\ yîTTÔáïeTT 1050 nsTTq 20e
|�<�eTTqT ¿£qT>=qTeTT.

kÍ<ó�q : �#áÌ³   Sn = 1050; n = 14, a = 10

Sn = [2 ( 1) ]
2
n a n d+ -

1050 = 
14 [2 13 ] 140 91
2

a d d+ = +

910 = 91 d
\  d = 10
\ a20 = 10 + (20 - 1) I 10 = 200

�<�V�²sÁD-12.  24, 21, 18, . . . n+¿£çXâ&ó�ýË m�� |�<�\ yîTTÔáï+ 78 neÚÔáT+~?

kÍ<ó�q : �#áÌ³, a = 24, d = 21 – 24 = –3, Sn = 78. n jîTT¿£Ø $\TeqT ¿£qT>=H�*.

Sn = [2 ( 1) ]
2
n a n d+ -  n� eTqÅ£� Ôî\Td�T

           78 [48 ( 1)( 3)] [51 3 ]
2 2
n nn n= + - - = -

78 [48 ( 1)( 3)]
2
n n= + - -

3n2 – 51n + 156 = 0
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Þ n2 – 17n + 52 = 0

 Þ (n – 4)(n – 13) = 0

 \ n = 4 or 13

n jîTT¿£Ø Âs+&�T $\Te\qT |�]>·DýË�¿ì rd�T¿Ãe#áTÌ.  nq>± |�<�\ d�+K« R  4 ýñ<� 13.

>·eT�+ºq n+Xæ\T

1. �#áÌ³ 4 |�<�\ yîTTÔáïeTT R 13 |�<�\ yîTTÔáïeTT = 78.

2. � çXâ&ó�ýË 5e |�<�+ qT+º 13e |�<�+ esÁÅ£� >·\ |�<�\ yîTTÔáï+ d�TH�� (0).  m+<�T¿£q>± �#áÌ³

yîTT<�{ì |�<�+ 24 <ó�qd�+K« eT]jáTT kÍeÖq«uñ<ó�eTT jîTT¿£Ø $\Te �TTD²Ôá�¿£eTT.  B�e\¢ ¿=��

|�<�\T <ó�H�Ôá�¿£eTT, eT]¿=�� |�<�\T �TTD²Ôá�¿£+ neÚÔáÖ |��*Ôá+ XøSq«+ ¿±e#áTÌ.

�<�V�²sÁD-13.  ç¿ì+~ y�� yîTTÔ�ï\qT ¿£qT>=qTeTT.

(i) yîTT<�{ì 1000  d�V�²È d�+K«\T  (ii) yîTT<�{ì  n  <ó�q d�V�²Èd�+K«\T

kÍ<ó�q :

(i) S = 1 + 2 + 3 + . . . + 1000 nqT¿=qTeTT.

Sn = ( )
2
n a l+   qT �|�jîÖÐ+ºq

 S1000 =  
1000 (1 1000)

2
+  =  500 × 1001 = 500500

yîTT<�{ì 1000 <ó�q|�PsÁ� d�+K«\ yîTTÔáï+ R 500500.

(ii) Sn = 1 + 2 + 3 + . . . + n nqT¿=qTeTT.

�#áÌ³ a = 1 eT]jáTT ºe] |�<�eTT l R n.

  \ Sn =
(1 )

2
n n+

  (ýñ<�)  Sn = 
( 1)

2
n n +

nq>± yîTT<�{ì n  d�V�²È d�+K«\ yîTTÔáï+   Sn =
( 1)

2
n n +

�<�V�²sÁD-14.  an = 3 + 2n  qT  n e |�<�+>± ¿£*Ðq çXâ&ó� jîTT¿£Ø yîTT<�{ì 24 |�<�\ yîTTÔ�ï�� ¿£qT>=qTeTT?

kÍ<ó�q : an = 3 + 2n,
a1 = 3 + 2 = 5
a2 = 3 + 2 × 2 = 7
a3 = 3 + 2 × 3 = 9
. . .
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d�+K«\ C²_Ô� : 5, 7, 9, 11, . . .

�#áÌ³, 7 – 5 = 9 – 7 = 11 – 9 = 2 .......

nq>± � C²_Ô� ÿ¿£ n+¿£çXâ&ó�.  B� yîTT<�{ì |�<�+ a = 5, kÍeÖq« uñ<ó�eTT d = 2.

S24 = 
24 [2 5 (24 1) 2] 12(10 46) 672
2

´ + - ´ = + =

�ºÌq çXâ&ó�ýË 24  |�<�\ yîTTÔáïeTT R 672.

�<�V�²sÁD-15.  ÿ¿£ fÉ*$ÈH� ÔájáÖ¯ ¿£+�|ú 3e d�+ööýË 600 fÉ*$Èq¢qT 7e d�+ööeTT 700 fÉ*$ÈH� �d³¢qT

ÔájáÖsÁT #ûd¾+~.  �~ ÔájáÖ¯ #û�d fÉ*eÈq¢ d�+K« ç|�r d�+ööeTT d¾�sÁ $\TeÔÃ �|sÁT>·TÔáÖ eÚ+fñ

(i) 1e d�+öö\ýË n~ ÔájáÖsÁT #ûd¾q fÉ*$ÈH�¢ d�+K«

(ii) 10e d�+ööýË n~ ÔájáÖsÁT #ûd¾q fÉ*$ÈH� d�+K«

(iii) yîTT<�{ì 7 d�+eÔáàs�\ýË n~ ÔájáÖsÁT #ûd¾q yîTTÔáï+ �d³¢ d�+K«qT ¿£qT>=qTeTT.

kÍ<ó�q : (i)  ç|�Ü d�+eÔáàsÁeTT ÔájáÖsÁT#û�d  fÉ*$ÈH� �d³¢ d�+K« ÿ¿£ d¾�sÁ $\TeÔÃ �|sÁT>·TÔáÖ eÚ+fñ 1e, 2e,

3e, . . ., d�+öö\ýË ÔájáÖsÁjûT«  fÉ*$ÈH�  �d³¢ d�+K«\ C²_Ô� ÿ¿£ n+¿£çXâ&ó�� @sÁÎsÁTd�Tï+~.

n e d�+ööýË ÔájáÖsÁT#û�d fÉ*$ÈH�  �d³¢ d�+K«qT an nqT¿=�q

a3 = 600 eT]jáTT a7 = 700 >± �eÇ�&�q~.

Þ a + 2d = 600

eT]jáTT a + 6d = 700

�|Õ d�MT¿£sÁD²\qT kÍ~ó+ºq  d = 25 eT]jáTT a = 550 e#áTÌqT.

\ yîTT<�{ì d�+ööýË ÔájáÖÂsÕq fÉ*$ÈH� �d³¢ d�+K« R 550.

(ii) a10 = a + 9d = 550 + 9 × 25 = 775

nq>± 10 e d�+ööýË ÔájáÖsÁT#ûd¾q  fÉ*$ÈH�¢ d�+K« R 775.

(iii)    S7 = 
7 [2 550 (7 1) 25]
2

´ + - ´

       
7 [1100 150] 4375
2

= + =

yîTT<�{ì 7 d�+öö\ýË ÔájáÖÂsÕq yîTTÔáï+ fÉ*$ÈH�¢  d�+K« R 4375.
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    nuó²«d�eTT - 6.3

1. ç¿ì+~ n+¿£çXâ&ó�T\ýË �|s=Øq� |�<�\ yîTTÔ�ï\qT ¿£qT>=qTeTT.

(i) 2, 7, 12, . . ., 10 |�<�\T. (ii) –37, –33, –29, . . ., 12 |�<�\T.

(iii) 0.6, 1.7, 2.8, . . ., 100  |�<�\T. (iv)
1 1 1, , , .....,

15 12 10  |�<�\T.

2. ç¿ì+~ y�� yîTTÔ�ï\qT ¿£qT>=qTeTT?

(i)
17 10 14 .... 84
2

+ + + + (ii) 34 + 32 + 30 + . . . + 10

(iii) –5 + (–8) + (–11) + . . . + (–230)

3. ÿ¿£ n+¿£çXâ&ó�ýË

(i) a = 5, d = 3, an = 50  nsTTq n eT]jáTT Sn \qT ¿£qT>=qTeTT.
(ii) a = 7, a13 = 35  nsTTq d � eT]jáTT S13 qT ¿£qT>=qTeTT.
(iii) a12 = 37, d = 3 nsTTq a qT eT]jáTT S12 qT ¿£qT>=qTeTT.
(iv) a3 = 15, S10 = 125 nsTTq d eT]jáTT a10 qT ¿£qT>=qTeTT.
(v) a = 2, d = 8, Sn = 90 nsTTq n eT]jáTT anqT ¿£qT>=qTeTT.
(vi) an = 4, d = 2, Sn = –14 nsTTq n eT]jáTT a qT ¿£qT>=qTeTT.
(vii) l = 28, S9 = 144 eT]jáTT |�<�\ d�+K« 9  nsTTq a ¿£qT>=qTeTT.

4. ÿ¿£ n+¿£çXâ&ó�ýË yîTT<�{ì ºe] |�<�\T esÁTd�>± 17 eT]jáTT 350. kÍeÖq« uóñ<�+ 9 nsTTq çXâ&ó�ýË�

|�<�\ d�+K«qT, |�<�\ yîTTÔáïeTTqT ¿£qT>=qTeTT.

5. ÿ¿£ n+¿£çXâ&ó�ýË  2e, 3e |�<�\T esÁTd�>± 14  eT]jáTT  18  nsTTq 51 |�<�\  yîTTÔáïeTTqT

¿£qT>=qTeTT.

6. ÿ¿£ n+¿£çXâ&ó�ýË yîTT<�{ì  7 |�<�\ yîTTÔáïeTT 49 eT]jáTT 17  |�<�\ yîTTÔáïeTT 289 nsTTq yîTT<�{ì n
|�<�\ yîTTÔáïeTTqT ¿£qT>=qTeTT.

7. an  ç¿ì+~ $<ó�+>± �sÁÇº+#á�&�Ôû a1, a2, . . ., an, n+¿£çXâ&ó� neÚÔáT+<�� #áÖ|�+&�.  eT]jáTT yîTT<�{ì

15 |�<�\ yîTTÔáïeTTqT ¿£qT>=q+&�.

(i) an = 3 + 4n (ii) an = 9 – 5n

8. ÿ¿£ n+¿£çXâ&ó�ýË yîTT<�{ì  n |�<�\ yîTTÔáïeTT  4n – n2 nsTTq yîTT<�{ì |�<�+ m+Ôá?  (S1$\Tyû yîTT<�{ì

|�<�eTT neÚÔáT+<�� >·TsÁTïÅ£� Ôî#áTÌ¿Ã+&�) yîTT<�{ì Âs+&�T |�<�\ yîTTÔáï+ m+Ôá ? Âs+&�e |�<�eTT m+Ôá?

n<û$<ó�+>±  3e |�<�eTTqT, 10e |�<�eTTqT eT]jáTT ne |�<�eTTqT ¿£qT>=qTeTT.

9. 6 #û uó²Ð+#á�&û yîTT<�{ì 40 d�V�²È d�+K«\ yîTTÔáïeTTqT ¿£qT>=qTeTT.

10. ÿ¿£ bÍsÄÁXæ\ýË $<�«$w�jáT¿£ d�+�+~óÔá $w�jáÖ\ýË nÔáT«q�Ôá ç|�Üuó� ¿£q|�]ºq y�]¿ì yîTTÔáï+ 700
sÁÖbÍjáT\Å£� 7 �V�QeTÔáT\T �y�Ç\� uó²$+#�sÁT.  ç|�Ü �V�QeTÜ $\Te <�� eTT+<�Tq� <��¿ì ̀

20 ÔáÅ£�Øe nsTTq ç|�Ü �V�QeTÜ $\TeqT ¿£qT>=qTeTT.
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11. |�s�«esÁD |�]sÁ¿£�DÅ£� ÿ¿£ bÍsÄÁXæ\ �esÁDýË $<�«sÁT�\T #î³T¢ H�{²\� uó²$+#�sÁT.  ç|�Ü �d¿£�qT

$<�«sÁT�\T y�sÁT #á<�TeÚÔáTq� ÔásÁ>·Ü d�+K«Å£� d�eÖqyîT®q #î³¢qT nq>± 1e ÔásÁ>·Ü #á<�TeÚ#áTq� ÿ¿£

�d¿£�H� $<�«sÁT�\T 1 #î³T¼qT, Âs+&�e ÔásÁ>·Ü #á<�TeÚ#áTq� ÿ¿£ �d¿£�H� $<�«sÁT�\T 2#î³¢qT H�{²\� �

$<ó�+>± 12e ÔásÁ>·Ü esÁÅ£L #ûjáÖ\� �sÁ�sTT+#áTÅ£�H��sÁT.  nsTTÔû ç|�Ü ÔásÁ>·ÜýË eTÖ&�T �d¿£�qT¢ eÚq�

� bÍsÄÁXæ\ $<�«sÁT�\T H�{ìq yîTTÔáï+ #î³T¢ m��?

12. nsÁ Æ e�Ô� ï\#û ÿ¿ £ d �]Îý²¿±s ÁeTT

ÔájáÖsÁT#ûjáT�&�+~.  |�³+ýË #áÖ|¾q $<ó�+>±

nsÁÆe�Ô�ï\ ¹¿+ç<�\T  A e<�Ý çbÍsÁ+_ó+#á�&�  A, B
\ eT<ó�« eÖsÁTÔáÖ eÚH��sTT.  nq>± yîTT<�{ì nsÁÝe�Ôáï

¹¿+ç<�eTT  A, Âs+&�e nsÁÆe�Ôáï ¹¿+ç<�eTT B eTÖ&�e

nsÁÆe�Ôáï ¹¿+ç<�eTT A  ...... eT]jáTT nsÁÆe�Ô�ï\

y�«kÍs�Æ\T esÁTd�>± 0.5 �d+.MT, 1.0 �d+.MT,
1.5 �d+.MT, 2.0 �d+.MT, . . .  � $<ó�+>± yîTTÔáï+

13 nsÁÆe�Ô�ï\T eÚq� d�]Îý+ yîTTÔáï+ bõ&�eÚ

m+Ôá?(
22
7

p = )

[d�Ö#áq : esÁTd� nsÁÝe�Ô�ï\ bõ&�eÚ\T l1, l2, l3, l4, . . .  eT]jáTT  M�  ¹¿+ç<�\T esÁTd�>±

A, B, A, B, . . ..]
13. 200 ¿£çsÁ yîTT<�TÝ\qT ç¿ì+~ |�³+ýË #áÖ|¾q $<ó�+>± neTs�ÌsÁT.  n��+{ì ¿£+fñ ç¿ì+<� eÚq� esÁTd�ýË

20  ¿£çsÁ yîTT<�TÝ\qT, <���|Õ 19 yîTT<�TÝ\qT, <���|Õq 18 yîTT<�TÝ\qT ..... neT]Ìq yîTTÔáï+ 200
yîTT<�TÝ\qT neTsÁTÌ³Å£� m�� esÁTd�\T ¿±y�*?  n��+{ì¿£+fñ �|Õq eÚq� esÁTd�ýË m�� ¿£çsÁ yîTT<�TÝ\T

¿£\eÚ ?

14. �+Ü eT]jáTT uÂ¿{Ù �³ýË, çbÍsÁ+uó�+ýË ÿ¿£ �Â¿{Ù <��¿ì  5MT. <�ÖsÁ+ýË ÿ¿£ �+Ü eÚ+#á�&�q$.

yîTTÔáï+ 10 �+ÔáT\ýË $TÐ*q �+ÔáT\T ÿ¿£<��¿=¿£{ì 3MT. <�ÖsÁ+ýË |�³+ýË #áÖ|¾q $<ó�+>±

neTsÁÌ�&�q$.  �³ýË bÍý¤ZHû e«¿ìï yîTT<�{ �Â¿{Ù e<�Ý qT+º �jáT\T<û] yîTT<�{ì �+Üe<�ÝÅ£� bþsTT

<��� rd�T¿=� yîqT¿£Å£� eºÌ �Â¿{ÙýË yûjáÖ*.  ÔásÁTy�Ôá Ü]Ð �Â¿{Ù qT+º �jáT\T<û] Âs+&�e �+Ü
e<�ÝÅ£� bþsTT <��� rd�T¿=� eºÌ �Â¿{ÙýË yûjáÖ*.  � $<ó�+>± n�� �+ÔáT\qT �Â¿{ÙýË yûjáTeýÉqq�

� e«¿ìï |�]Â>Ôáïe\d¾q yîTTÔáï+ <�ÖsÁ+ m+Ôá?

[d�Ö#áq : yîTT<�{ì, Âs+&�e �+ÔáT\qT rd�T¿=� s�e&��¿ì �³ �&û e«¿ìï |�]Â>Ôáïe\d¾ <�ÖsÁeTT esÁTd�>±

2 × 5 + 2 × (5 + 3)]

5 m 3 m 3 m

A B

l1

l3

l2

l4
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6.5   >·TDçXâ&ó�T\T

ç¿ì+~ C²_Ô�\qT |�]o*+#á+&�.

(i) 30, 90, 270, 810 ..... (ii)
1 1 1 1, , , .....
4 16 64 256

(iii) 30, 24, 19.2, 15.36, 12.288

�|Õ ç|�Ü C²_Ô�ýË ÔásÁTy�Ôá e#ûÌ |�<�eTTqT s�jáT>·\eÖ?

(i)ýË yîTT<�{ì |�<�+ Ôá|�Î ç|�Ü |�<�eTTqT  <�� eTT+<�TeÚq� |�<�eTTqT 3#û >·TDì+#á³+ e\¢ bõ+<�e#áTÌ.

(ii) ýË yîTT<�{ì |�<�+ Ôá|�Î ç|�Ü|�<�eTTqT <�� eTT+<�TeÚq� |�<�eTTqT 
1
4  #û >·TDì+#á³+ e\¢ bõ+<�e#áTÌ.

(iii) yîTT<�{ì |�<�+ Ôá|�Î ç|�Ü |�<�eTTqT <�� eTT+<�Tq� |�<�eTTqT 0.8#û >·TDì+#á³+ e\¢ bõ+<�e#áTÌ.

�|Õ ç|�Ü C²_Ô�ýË yîTT<�{ì |�<�+ Ôá|�Î ç|�Ü |�<�eTTqT <�� eTT+<�Tq� |�<�eTTqT ÿ¿£ d¾�sÁ d�+K«#û

>·TDì+#á³+ e\¢ bõ+<�>·\T>·TÔáTH��eTT.  �ý²+{ì d�+K«\ C²_Ô�qT >·TDçXâ&ó� n+{²eTT.  � d¾�sÁ d�+K«qT

kÍeÖq« �w�ÎÜï  ‘r’ n+{²eTT.  nq>± �|Õq �<�V�²]+ºq (i), (ii), (iii) \ýË kÍeÖq« �w�ÎÜï esÁTd�>±  3, 
1
4 ,

0.8.

>·TDçXâ&ó�ýË� yîTT<�{ì |�<�eTTqT  a #ûÔá, kÍeÖq« �w�ÎÜï� » r µ #ûÔá d�Öº�dï Âs+&�e |�<�eTTqT bõ+<�eýÉqq�

yîTT<�{ì |�<�eTT  a qT kÍeÖq«�w�ÎÜï r #ûÔá >·TDì+#áeýÉqT.

�¿£Ø&� a ¹ 0, r ¹ 0 eT]jáTT r ¹ 1

\ Âs+&�e |�<�eTT = ar

n<û$<ó�+>± eTÖ&�e |�<�eTT R ar I r R ar2

a, ar, ar2 ..... qT >·TDçXâ&ó� jîTT¿£Ø kÍ<ó�sÁD sÁÖ|�eTT n+{²+.

�|Õ >·TDçXâ&ó�ýË @<îÕH� ÿ¿£ |�<�eTT, <�� eTT+<�Tq� |�<��¿ì >·\ �w�ÎÜï ‘r’.

nq>±

2
..........ar ar r

a ar
= = =

ÿ¿£yûÞø ÿ¿£ >·TDçXâ&ó�ýË� yîTT<�{ì |�<�eTTqT a1 #ûÔá, Âs+&�e |�<�eTTqT  a2 #ûÔá  ..... ne |�<�eTTqT an
#ûÔá d�Öº�dï

  
2 3

1 2 1
...... n

n

a a a r
a a a -

= = = =

\   a1, a2, a3 .... an ... ÿ¿£ >·TDçXâ&ó� ¿±eýÉqq� ç|�Ü |�<�eTT XøSHû«ÔásÁeTT neÚÔáÖ

1

n

n

a r
a -

=  ¿±eýÉqT. (r ¹ 1)

�#áÌ³  n  @<îÕH� ÿ¿£ d�V�²Èd�+K« eT]jáTT n > 2.
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  �$ #ûjáT+&�.

ç¿ì+~ y��ýË >·TDçXâ&ó�T\T ¿±�yûyÃ ¿£qT>=qTeTT.

   1. 6, 12, 24, 48, ..... 2. 1, 4, 9, 16, ......

   3. 1, -1, 1, -1, ..... 4. -4, -20, -100, -500, .....

>·TDçXâ&ó�T\Å£� eT]¿=�� �<�V�²sÁD\T :

(i) ÿ¿£ e«¿ìï Ôáq q\T>·TsÁT $TçÔáT\Å£� $&�$>± �Ôáïs�\T s�d¾, y�]� Å£L&� ç|�Ü ÿ¿£ØsÁT eT] q\T>·TsÁT

yûsÁT yûsÁT e«Å£�ï\Å£� �<û �Ôáïs��� s�d¾ |�+|¾+#áeT� ¿Ãs�&�T.  � >=\Td�T �<û$<ó�+>± ¿=qkÍÐ+#á�&�Ôû

yîTT<�{ì, Âs+&�e, eTÖ&�e, H�\Ze, .... <�XøýË� �Ôáïs�\ d�+K« esÁTd�>±

1, 4, 16, 64, 256 ..............

(ii)  ̀  500 \qT d�+eÔáàsÁeTTqÅ£� 10 XæÔá+ #áç¿£e&�¦ ç|�¿±sÁ+ ÿ¿£ u²«+¿ùýË bõ<�T|�Ú #ûd¾q yîTT<�{ì, Âs+&�e,

eTÖ&�e .... d�+öö\ ºesÁ <�� yîTTÔáï+ $\Te\T esÁTd�>±

550, 605, 665.5 ......

(iii) |�³+ýË #áÖ|¾q $<ó�+>± yîTT<�{ì #áÔáTsÁçd�+ jîTT¿£Ø uó�TC²\ eT<ó�« _+<�TeÚ\qT ¿£\|�³+ e\¢ Âs+&�e

#áÔáTsÁçd�eTT jîTT¿£Ø uó�TC²\ eT<ó�«_+<�TeÚ\qT ¿£\|�³+ e\¢ eTÖ&�e #áÔáTsÁçd�eTT @sÁÎ&�q$.  �<û
$<ó�qeTTqT nq+ÔáeTT>± ¿=qkÍÐ+#á�&�+~.  yîTT<�{ì

#áÔáTsÁçd�uó�TÈeTT 16 �d+.MT. nsTTq yîTT<�{ì, Âs+&�e, eTÖ&�e,

H�\Ze ..... #áÔáTsÁçkÍ\ yîÕXæ\«\T esÁTd�>±

256, 128, 64, 32, .....

(iv) ÿ¿£ >·&�jáÖsÁ+ jîTT¿£Ø ýË\¿£+ yîTT<�{ì &Ã\q+ýË #ûd¾q eç¿£+/

#�|�+ bõ&�eÚ 18 �d+.MT. ÔásÁTy�Ôá ç|�Ü &Ã\q+ýË @sÁÎ&û

#�|�+ bõ&�eÚ <�� eTT+<�T &Ã\q+ýË @sÁÎ&�¦ #�|�+ bõ&�eÚýË

0.9 e e+ÔáT eÚ+&�TqT.  nsTTq yîTT<�{ì, Âs+&�e, eTÖ&�e,

H�\Ze ....... &Ã\H�\ýË @sÁÎ&�T #�bÍ\ bõ&�eÚ\T esÁTd�>±

18, 16.2,  14.58, 13.122......

   �ýËº+º ` #á]Ì+#á+&�

     1. �|Õq #á]Ì+ºq ç|�Ü C²_Ô� m+<�TÅ£� >·TDçXâ&ó� neÚÔáT+<Ã $e]+#áTeTT.

     2. ÿ¿£ >·TDçXâ&ó�� �sÁ�sTT+#áT³Å£� ¿±e\d¾q n+Xæýñ$T{ì?
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yîTT<�{ì |�<�eTT a,  kÍeÖq« �w�ÎÜï r,  Ôî*d¾q|�Ú&�T ÿ¿£ >·TDçXâ&ó�� mý² �]�+#�ýË eT]jáTT �ºÌq

d�+K«\ C²_Ô� >·TDçXâ&ó� neÚÔáT+<Ã ýñ<Ã mý² �sÁ�sTTkÍïyîÖ #áÖ<�Ý+.

�<�V�²sÁD-16.  yîTT<�{ì |�<�eTT a = 3, kÍeÖq« �w�ÎÜï r = 2 nsTTq >·TDçXâ&ó�� s�jáTTeTT.

kÍ<ó�q :  yîTT<�{ì |�<�+ ‘a’  ¿£qT¿£ <��� d�T\uó�+>± s�jáTe#áTÌ.

ÔásÁTy�Ôá >·TDçXâ&ó�ýË ç|�Ü |�<�eTT, <�� eTT+<�Tq� |�<�eTTqT, kÍeÖq« �w�ÎÜï#û >·TDì+#á³+ e\¢

bõ+<�e#áTÌ.  nq>± Âs+&�e |�<�eTT ¿±eýÉqq� eTqeTT yîTT<�{ì |�<�eTT  a = 3 qT kÍeÖq« �w�ÎÜï  r = 2 #û

>·TDì+#áeýÉqT.

\  Âs+&�e |�<�eTT = ar  = 3 ×2 = 6 (yîTT<�{ì |�<�+ I kÍeÖq« �w�ÎÜï)

n<û $<ó�+>± eTÖ&�e |�<�eTT =  Âs+&�e |�<�eTT ×  kÍeÖq«�w�ÎÜï

= 6 × 2 = 12

�<û $<ó�H��� ¿=qkÍÐ�dï @sÁÎ&û >·TDçXâ&ó� :

3, 6, 12, 24,..... .

�<�V�²sÁD-17. a  = 256,   r = 
1

2
-

 nsTTq >·TDçXâ&ó�� s�jáTTeTT.

kÍ<ó�q :  >·TDçXâ&ó� kÍ<ó�sÁD sÁÖ|�eTT = a, ar, ar2, ar3, .....

= 256, 256
1

2
-æ ö

ç ÷
è ø

,  256
21

2
-æ ö

ç ÷
è ø

, 256
31

2
-æ ö

ç ÷
è ø

= 256, -128, 64, -32 ......

�<�V�²sÁD-18.  >·TDçXâ&ó�   25,  -5,  1, 
1

5
-

  jîTT¿£Ø kÍeÖq« �w�ÎÜï� ¿£qT>=qTeTT.

kÍ<ó�q : ÿ¿£ >·TDçXâ&ó�ýË yîTT<�{ì, Âs+&�e, eTÖ&�e .... |�<�\T esÁTd�>± a1, a2, a3 .... nsTTq kÍeÖq«

�w�ÎÜï  32

1 2
.....aar

a a
= = =

�#áÌ³ a1 = 25,  a2 = -5, a3 = 1 ¿£qT¿£.

kÍeÖq« �w�ÎÜï  
5 1 1

25 5 5
r - -

= = =
-

.

�<�V�²sÁD-19.  ç¿ì+~ C²_Ô�\ýË @$ >·TDçXâ&ó�T\T neÚÔ�sTT ?

(i) 3, 6, 12, ..... (ii) 64, -32, 16,

(iii)
1 1 1, , ,......
64 32 8
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kÍ<ó�q : (i) a1, a2, a3, .....an ..... \T >·TDçXâ&ó� ¿±eýÉqq� |�<�\�� d�TH��\T ¿±Å£L&�<�T eT]jáTT

32

1 2 1
..... n

n

a aa r
a a a -

= = =

�#áÌ³ yîTT<�{ì |�<�+ d�TH�� ¿±<�T.  �+¿±

2

1

6 2
3

a
a

= =

eT]jáTT
3

2

12 2
6

a
a

= =

32

1 2
2aa

a a
= =

nq>± �eÇ�&�q C²_Ô� ÿ¿£ >·TDçXâ&ó�� @sÁÎsÁTd�Tï+~.  B� kÍeÖq«�w�ÎÜï R 2.

(ii)  yîTT<�{ì |�<�+ d�TH�� ¿±<�T. eT]jáTT

2

1

32 1
64 2

a
a

- -
= =

eT]jáTT
3

1

16 1
32 2

a
a

-
= =

-

32

1 2

1
2

aa
a a

-
\ = =

nq>± �eÇ�&�q C²_Ô� ÿ¿£ >·TDçXâ&ó�� @sÁÎsÁTd�Tï+~.  B� kÍeÖq« �w�ÎÜï R 
1

2
-

.

(iii)  yîTT<�{ì |�<�+ d�TH�� ¿±<�T. eT]jáTT

2

1

1
32 21
64

a
a

= =

3

2

1
8 41

32

a
a

= =

�#áÌ³   
32

1 2

aa
a a

¹

nq>± �eÇ�&�q d�+K«\ C²_Ô� >·TDçXâ&ó�� @sÁÎsÁ#á<�T.
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   nuó²«d�eTT -  6.4

1. � ç¿ì+~ d�+|��T³q\ýË @sÁÎ&û d�+K«\ C²_Ô�\ýË @$ >·TDçXâ&ó�T\qT @sÁÎsÁTkÍïsTT?

(i) w�]�\ jîTT¿£Ø yîTT<�{ì d�+ööeTT JÔáeTT 5,00,000/- � ÔásÁTey�Ôá ç|�Ü d�+ööeTT eTT+<�Tq�

d�+ööeTT jîTT¿£Ø JÔáeTTýË  10%  �|sÁT>·TÔáT+~.

(ii) 30 yîT³T¢ eÚq� ÿ¿£ yîT³¢ e+ÔîqýË n��+{ì ¿£+fñ ç¿ì+<� eÚq� yîT³T¼ �s��D²�¿ì 100
�³T¿£\T ned�sÁ+.  � ç¿ì+~ yîT³T¼ qT+&� �|Õ¿ì yîÞø�ßÔáT+fñ ç|�Ü �|ÕyîT³T¼ �s��D²�¿ì <��

ç¿ì+<� yîT³T¼ �s��D²�¿ì ¿±e\d¾q �³T¿£\ ¿£+fñ 2 #=|�ðq ÔáÅ£�Øe �³T¿£\T ned�sÁyîT®q,

ç|�Ü yîT³T¼ �s��D²�¿ì ned�sÁeTjûT« �³T¿£\ d�+K«\ C²_Ô�.

(iii) 24 �d+.MT uó�TÈ+ bõ&�eÚ>·\

ÿ¿£ d�eTu²V�Q çÜuó�TÈeTT,
j î T T¿ £ Ø  u ó � TC²\ eT< ó � «
_+<�TeÚ\qT ¿£\|�³+ e\¢
Âs+&�e çÜuó�TÈeTT, <��
uó�TC²\ eT<ó�« _+<�TeÚ\qT
¿ £\|�³+ e\¢ eTÖ&�e
çÜuó� TÈyûTsÁÎ& �TqT.  �
$< ó�H��� nq+Ô á+>±
¿=qkÍÐ�dï yîTT<�{ì, Âs+&�e,
eTÖ& �e .... çÜuó �TC²\

#áT³T¼¿=\Ôá\T.

2. >·TDçXâ&ó� jîTT¿£Ø yîTT<�{ì |�<�eTT a,  kÍeÖq«�w�ÎÜï  r \T ç¿ì+<� �eÇ�&�¦sTT. nsTTq yîTT<�{ì eTÖ&�T

|�<�\qT s�jáTTeTT.

(i) a = 4;   r = 3 (ii) 5a = ;    1
5

r =

(iii) a = 81;   r = 
1

3
-

(iv)
1
64

a = ;   r = 2

3. ç¿ì+~ y��ýË @$ >·TDçXâ&ó�T\T? >·TDçXâ&ó� nsTTÔû ÔásÁTy�Ôá e#ûÌ eTÖ&�T |�<�\qT s�jáTTeTT.

(i) 4, 8, 16 ..... (ii)
1 1 1, , .....
3 6 12

-

(iii) 5, 55, 555, .... (iv) -2, -6, -18 .....

(v)
1 1 1, , .....
2 4 6 (vi) 3, -32, 33, .....

(vii)
1, 1, ,.....x
x  ( 0)x ¹ (viii)

1 , 2, 4 2.....
2

-

(ix) 0.4, 0.04, 0.004, .....

4. x, x + 2, x + 6 \T ÿ¿£ >·TDçXâ&ó�ýË eTÖ&�T esÁTd� |�<�ýÉÕq x $\TeqT ¿£qT>=qTeTT.

24 24  

24 

�d+.MT. �d+.MT.

�d+.MT.
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6.6  >·TDçXâ&ó� jîTT¿£Ø  n e |�<�eTT

ÿ¿£ d�eTd�«qT |�]o*<�Ý+.  ç|�Ü >·+³Å£� 3 Âs³T¢ njûT« ÿ¿£ u²«¿¡¼]jáÖ ¿£\ÌsYýË yîTT<�{ì >·+³ýË

30 u²«¿¡¼]jáÖ\T eÚq� 4e >·+³ýË eÚ+&û u²«¿¡¼]jáÖ\ d�+K« m+Ôá ?

B�¿ì d�eÖ<ó�q+ ¿=sÁÅ£� yîTT<�{ Âs+&�e >·+³ýË u²«¿¡¼]jáÖ\ d�+K«qT ¿=qT>=+<�+.

ç|�Ü >·+³Å£� 3 Âs³T¢ neÚÔáT+~ ¿£qT¿£

Âs+&�e >·+³ýË u²«¿¡¼]jáÖ d�+K« = 3 × yîTT<�{ì >·+³ýË� u²«¿¡¼]jáÖ d�+K«

= 3 × 30 = 30 × 31

= 30 × 3(2-1)

= 90

eTÖ&�e >·+³ýË u²«¿¡¼]jáÖ d�+K« = 3 ×  Âs+&�e >·+³ýË� u²«¿¡¼]jáÖ d�+K«

 = 3 × 90 = 30 × (3×3)

= 30 × 32 =  30 × 3(3-1)

= 270

H�\Ze >·+³ýË u²«¿¡¼]jáÖ d�+K«    = 3 × eTÖ&�e >·+³ýË u²«¿¡¼]jáÖ d�+K«

= 3 × 270 = 30 × (3×3×3)

= 30 × 33 = 30 × 3(4-1)

= 810

�#áÌ³ eTq+ ÿ¿£ d�+K«\ C²_Ô�qT bõ+<�³+ >·eT�+#á>·\+. n~

30, 90, 270, 810, ....

�|Õ C²_Ô� ÿ¿£ >·TDçXâ&ó� (m+<�TÅ£� ?)

�|Õ neT]¿£ qT+º  20 >·+³\ d�eTjáTeTTýË eÚ+&û u²«¿¡¼]jáÖ d�+K«qT ¿£qT>=q>·\y� ?

�|Õ $<ó�H��� nqTd�]+º ýñ<� �|Õ neT]¿£ �<ó�sÁ+>± d�T\uó�+>± eTq+ 20 >·+öö\ d�eTjáT+ýË eÚ+&û

u²«¿¡¼]jáÖ d�+K«qT ç¿ì+~ $<ó�+>± ¿£qT>=q>·\+.

19

30 (3 3 ... 3)= ´ ´ ´ ´
1442443

kÍsÁT¢

= 30 × 319 = 30 × 3(20-1)

� �<�V�²sÁD qT+º eTq+ d�T\uó�+>± 25e |�<�eTTqT, 35e |�<�eTTqT �+¿±  n e |�<�eTTqT

Å£L&� ¿£qT>=q\+.

a1, a2, a3 ..... ÿ¿£ >·TDçXâ&ó� eT]jáTT B� kÍeÖq« �w�ÎÜï�  r nqTÅ£�+<�+.
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Âs+&�e |�<�+  a2 = ar = ar(2-1)

eTÖ&�e |�<�+ a3 = a2×r = (ar) × r = ar2 = ar(3-1)

H�\Ze |�<�+ a4 = a3×r = ar2 × r = ar3 = ar(4-1)

................................................

................................................

�|Õ neT]¿£ qT+º  n 
e |�<�eTT an = arn-1 

n� �s�Ý]+#á>·\eTT.

nq>± yîTT<�{ì |�<�eTT a, kÍeÖq« �w�ÎÜï  r >± >·\ ÿ¿£ >·TDçXâ&ó� jîTT¿£Ø  ne |�<�eTT  an = arn-1.

�|�Ú&�T ¿=�� �<�V�²sÁD\qT |�]o*<�Ý+.

�<�V�²sÁD-20.  
5 5 5, , .......
2 4 8  >·TDçXâ&ó� jîTT¿£Ø  20e |�<�eTTqT eT]jáTT ne |�<�eTTqT ¿£qT>=qTeTT?

kÍ<ó�q : �#áÌ³  a = 
5
2  eT]jáTT   

5
14

5 2
2

r = =

     \
19

20 1
20 20

5 1 5
2 2 2

a ar - æ ö= = =ç ÷è ø

eT]jáTT

1
1 5 1 5

2 2 2

n
n

n na ar
-

- æ ö= = =ç ÷
è ø

�<�V�²sÁD-21.  2,  2 2 , 4 .....  >·TDçXâ&ó�ýË mq�e |�<�eTT 128 neÚÔáT+~?

kÍ<ó�q : �#áÌ³  a = 2    r = 
2 2 2

2
=

ne |�<�eTT R 128  nqT¿=�q

an = arn-1 = 128

12.( 2) 128n- =

1( 2) 64n- =

1
622 2

n-

=
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Þ   
1 6

2
n -

=

\ n = 13.
nq>± 13e |�<�eTT 128  neÚÔáT+~.

�<�V�²sÁD-22. ÿ¿£ >·TDçXâ&ó�ýË  3e |�<�eTT 24  eT]jáTT 6 e |�<�eTT 192  nsTTq  10e |�<�eTTqT

¿£qT>=qTeTT.

kÍ<ó�q : �#áÌ³ a3 = ar2 = 24 ...(1)
a6 = ar5 = 192 ...(2)

(2) qT (1) uó²Ð+#á>±  
5

2
192
24

ar
ar

=

Þ   r3 = 8 = 23

Þ    r  = 2

r $\TeqT (1)ýË ç|�Ü¹¿�|¾+º d�Ö¿¡��¿£]+#á>±  a = 6.

\  a10 = ar9 = 6(2)9  = 3072.

    nuó²«d�eTT -6.5

1. ç¿ì+<� �eÇ�&�q ç|�Ü>·TDçXâ&ó�¿ì kÍeÖq«�w�ÎÜï�, n e |�<�eTTqT ¿£qT>=qTeTT.

(i)
3 3 33, , , .........
2 4 8 (ii) 2, -6, 18, -54

(iii) -1, -3,  -9, -27 .... (iv)
4 85, 2, , .........
5 25

2. 5, 25, 125, ..... nHû >·TDçXâ&ó� jîTT¿£Ø 10e, ne |�<�\qT ¿£qT>=qTeTT.

3. ç¿ì+~ >·TDçXâ&ó�\ýË �|s=Øq� |�<�\qT ¿£qT>=qTeTT.

(i) a1 =  9;  
1 ;
3

r =  nsTTq a7 (ii) a1 = -12;  
1 ;
3

r =   nsTTq  a6

4. (i) 2, 8, 32, ..... >·TDçXâ&ó�ýË mq�e |�<�eTT 512 neÚÔáT+~.

(ii) 3, 3, 3 3 ...... >·TDçXâ&ó�ýË mq�e |�<�eTT  729 neÚÔáT+~.

(iii)
1 1 1, , .....
3 9 27  >·TDçXâ&ó�ýË mq�e |�<�eTT 

1
2187 neÚÔáT+~.
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5. ÿ¿£ >·TDçXâ&ó� jîTT¿£Ø 8e |�<�eTT 192 eT]jáTT kÍeÖq« �w�ÎÜï 2 
nsTTq 12e |�<�eTTqT ¿£qT>=qTeTT.

6. ÿ¿£ >·TDçXâ&ó�ýË H�\Ze |�<�eTT 
2
3   eT]jáTT 7e |�<�eTT 

16
81  nsTTq � çXâ&ó�� ¿£q>=qTeTT.

7. 162, 54, 18 ..... >·TDçXâ&ó� eT]jáTT  
2 2 2, , ....
81 27 9  >·TDçXâ&ó�T\ n e |�<�\T d�eÖqeTT nsTTq

n $\TeqT ¿£qT>=qTeTT.

   ×ºÌÛ¿£ nuó²«d�eTT

     [$d�ï �Ôá n<ó�«jáTq ¿Ãd�+]

1. 121, 117, 113, . . ., n+¿£çXâ&ó�ýË mq�e |�<�eTT

yîTT<�{ì �TTD|�<�eTT neÚÔáT+~.

[d�Ö#áq : an < 0 njûT« $<ó�+>± n $\Te

¿£qT>=qTeTT]

2. ÿ¿£ n+¿£çXâ&ó�ýË 3e, 7e |�<�\ yîTTÔáïeTT 6

eT]jáTT y�� \�ÝeTT 8 nsTTq yîTT<�{ì 16 |�<�\

yîTTÔáïeTT ¿£qT>=qTeTT.

3. ÿ¿£ �#îÌqýË Âs+&�T yîT³¢ eT<ó�« <�ÖsÁ+ 25 �d+.MT.

yîT³¢ jîTT¿£Ø bõ&�eÚ ç¿ì+<� qT+º �|Õ¿ì  @¿£¯Üq

Ôá>·TZÔáÖ  eÚ+º, ç¿ì+<� qT+º yîTT<�{ì yîT³T¼ bõ&�eÚ

45 �d+.MT.  eT]jáTT �|ÕqT+º  yîTT<�{ì  yîT³T¼

bõ&�eÚ  25 �d+.MT. � Âs+&�+{ì eT<ó�« <�ÖsÁeTT

12
2 MT. nsTTq n�� yîT³¢ ÔájáÖ¯¿ì ¿±e\d¾q

#î¿£Ø bõ&�eÚ m+Ôá?)

[d�Ö#áq : yîT³¢ d�+K« =  250 1
25

+ ]

4. ¿=�� �+&�T¢ ÿ¿£ esÁTd�ýË ¿£\eÚ. y�{ì¿ì 1 qT+º 49 esÁÅ£L d�+K«\qT ¹¿{²sTT+#á³+ È]Ð+~.  ÿ¿£

�+{ì¿ì ¹¿{²sTT+ºq d�+K«  xÑ � �+{ì¿ì eTT+<�T (Preceeding) eÚq� �+&�¢ d�+K«\ yîTTÔáïeTT, ÔásÁTy�Ôá

eÚq� �+&�¢ d�+K«\ yîTTÔáïeTT d�eÖq+ nsTTÔû  � �+{ì d�+K« x  e«ed¾�ÔáeT� #áÖ|�+&�. eT]jáTT  x
$\TeqT ¿£qT>=qTeTT.

[d�Ö#áq : Sn – 1 = S49 – Sn]

25

45

12
2

25

�d+.MT.

�d+.MT.

�d+.MT.

MT.
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5. ç¿ì+~ |�³eTT\T #áÖ|¾q $<ó�+>± ÿ¿£ |��Ú{Ùu²ýÙ ç>�+&�ýË ç�|¿£�Å£�\T Å£LsÁTÌ+&�T³Å£� 15 yîT³T¢ >·\ ÿ¿£ yîT³¢

esÁTd� ¿£\<�T.  B�ýË ç|�Ü yîT³T¼ bõ&�eÚ 50 MT. eT]jáTT yî&�\TÎ 
1
2 MT.  yîTT<�{ì yîT³T¼ uó�Ö$T qT+º

1
4 MT. mÔáTïýË eT]jáTT ç|�Ü yîT³T¼ <�� eTT+<�Tq� yîT³T¼Å£� 

1
4 MT. mÔáTïýË eÚq� � yîT³¢ esÁTd��

�]�+#á&��¿ì ¿±e\d¾q �³T¿£\ jîTT¿£Ø |��Tq|�]eÖDeTTqT ¿£qT>=qTeTT.

[d�Ö#áq : yîTT<�{ì esÁTd�� �]�+#áT³Å£� ¿±e*àq �³T¿£ |��Tq|�]eÖD+ = 1 1 50
4 2

´ ´ MT.
3]

6. ÿ¿£ |��� |�P]ï #ûjáTT³Å£� 150 eT+~ Å£L©\qT �jáT$T+#�sÁT.  nsTTÔû Âs+&�e sÃE y�]ýË  4
>·TsÁT |��ýË¿ì s�e³+ eÖqTÅ£�H��sÁT.  eTÖ&�e sÃE eT] q\T>·TsÁT eÖqTÅ£�H��sÁT. ç|�ÜsÃp �

$<ó�+>± ÈsÁ>·³+ e\¢ � |�� |�P]ï ¿±e&��¿ì nqTÅ£�q� sÃE\ ¿£+fñ 8 sÃE\T mÅ£�Øe ned�sÁ+

|�{ì¼+~.   nsTTq � |�� |�P]ï ¿±e&��¿ì |�{ì¼q yîTTÔáï+ sÃE m�� ?

[d�Ö#áq : çbÍsÁ+uó�+ýË |�� |�P]ï ¿±e&��¿ì ned�sÁeTjûT« sÃE\ d�+K«qT ‘x’  nqT¿=+fñ

8150 [2 150 ( 8 1)( 4)]
2

xx x+
= ´ + + - -

[Èy��T:  x = 17 Þ   x + 8 = 17 + 8 = 25]
7. ÿ¿£ jáT+çÔáeTT yî\ Rs. 5,00,000/-.  yîTT<�{ì d�+eÔáàsÁeTT B� yî\ýË Ôá>·TZ<�\  15%, Âs+&�e

d�+eÔáàsÁeTT 13
1
2 % , eTÖ&�e d�+ööeTT 12% .... � $<ó�qeTT ¿=qkÍÐ+#á�&�q  10 d�+eÔáàsÁeTT\

nq+ÔásÁeTT <�� yî\ m+Ôá? �eÇ�&�q XæÔ�\ú� çbÍsÁ+uó�yî\ �|ÕqHû �|s=Øq&�+ È]Ð+~.

[d�Ö#áq : yîTTÔáï+ Ôá>·TZ<�\ = 15 + 13
1
2 +12+....10 |�<�\T

10S [30 13.5] 82.5%
2n = - =

\  10 d�+öö nq+ÔásÁeTT <�� yî\  =100 - 82.5 = 17.5  (nq>± 5,00,000 ýË 17.5%)

1 m
4

1 m
2 50

m
MT.

MT.

M
T.
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   eTq+ @$T #á]Ì+#�+

     � n<ó�«jáT+ýË eTqeTT #á]Ì+ºq n+Xæ\T

1. ÿ¿£ d�+K«\ C²_Ô�ýË yîTT<�{ì |�<�eTT Ôá|�Î $TÐ*q |�<�\T n�� y�� eTT+<�Tq� |�<�\Å£� ÿ¿£ d¾�sÁ

d�+K«qT ¿£\|�³+ e\¢ @sÁÎ&�TÔáÖ eÚ+&û � C²_Ô�qT n+¿£çXâ&ó� n+{²sÁT.  ¿£*�| d¾�sÁ d�+K«qT

kÍeÖq«uñ<ó�eTT n+{²sÁT.

AP ýË |�<�\T esÁTd�>± a, a + d, a + 2d, a + 3d, . . .

2. a1, a2, a3, . . . d�+K«\ C²_Ô�ýË a2 – a1, a3 – a2, a4 – a3, . . ., $\Te\T d�eÖqyîT®q nq>± ak

+ 1 – ak $\Te d¾�sÁyîT®q � C²_Ô�qT n+¿£çXâ&ó� n+{²eTT.

3. yîTT<�{ì |�<�eTT a >±, |�<�+ÔásÁeTT  d >± >·\ ÿ¿£ n+¿£çXâ&ó�ýË  n e |�<�eTT an = a + (n – 1) d.

4. n+¿£çXâ&ó�ýË yîTT<�{ì n |�<�\ yîTTÔáïeTT

S [2 ( 1) ]
2
n a n d= + -

5. ÿ¿£ n+¿£çXâ&ó�ýË ºe] |�<�+ = l  nsTTq |�<�\ yîTTÔáïeTT S ( )
2
n a l= + . �#áÌ³ n = |�<�\ d�+K«.

6. ÿ¿£ d�+K«\ C²_Ô�ýË yîTT<�{ì |�<�eTT a Ôá|�Î $TÐ*q |�<�\T nú� y�� eTT+<�Tq� |�<�\qT ÿ¿£ d¾�sÁ

d�+K«#û >·TDì+#á³+ e\¢ @sÁÎ&�TÔáÖ eÚ+fñ � C²_Ô�qT >·TDçXâ&ó� n+{²sÁT.  � d¾�sÁ d�+K«qT kÍeÖq«

�w�ÎÜï (r) n+{²sÁT.

7. yîTT<�{ì |�<�eTT  a  eT]jáTT kÍeÖq« �w�ÎÜï  r >± >·\ >·TDçXâ&ó�ýË ne |�<�eTT an = arn-1.

(�¿£Ø&� a ¹ 0, r ¹ 0 eT]jáTT r ¹ 1).

çbÍCÉÅ£�¼ |��

n+¿£çXâ&ó� ` n+¿£çXâ&ó�ýË� n |�<�\ yîTTÔáï+µqT C²«$TrjáT+>± ¿£qT>=qT³

l �eÇ�&�q çXâ&ó � n+¿£çXâ&ó �jîÖ ¿±<Ã, C²«$TrjáT+>± |�]o*+#á&�+ (u²sYç>±|��Ú

qT|�jîÖÐ+#�*) eT]jáTT »»ÿ¿£ kÍ<ó�sÁD n+¿£çXâ&ó�ýË� n |�<�\ yîTTÔáï+µµqT C²«$TrjáT+>±

¿£qT>=� kÍ<ó�sÁD¡¿£]+#áT³.
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